W FHE 2022411 A 355 7 B AR AR I ORI 3% < R U

FS |FEEE| MENE |REAY PIEHE | REES | ndE | BRI &t
2317 A\ 1297 120. 97875 46.3475 |167.318]
1 FPHEE | BUN#T#EIX 3 For¥s 1430.0 [200.0]  600.0 2030. 0
2 HRHA | BUR#THE X 1 = 520.0 [200.0] 200.0 720. 0
3 FRHE | BUR#THE X 1 kA 520.0  [200.0]  200.0 720. 0
4 HPHEE | BUR#TH X 1 R 650.0 [200.0]  200.0 850. 0
5 HBHE | BUR#THE X 2 bl 910.0 [200.0]  400.0 1310. 0
6 FPHEE | BUN#T#EIX 3 AR 1560.0 [200.0]  600.0 2160. 0
7 HRHA | BUR#THE X 1 Eia 390.0 [200.0] 200.0 590. 0
8 FRHE | BUR#THE X 2 N IRAl 1040.0 [200.0]  400.0 1440. 0
9 HRHE | BUR#TH X 2 PAEAL 1040.0 [200.0]  400.0 1440. 0
10 | AFES | BUFE#EIX 2 IR 1040.0 |200.0]  400.0 1440. 0
11 | PSR | BUR#THIX 2 AW 1040.0 [200.0]  400.0 1440. 0
12 | AP | BUR#THIX 3 Xl tH 55 1430.0 [200.0]  600.0 2030. 0
13 | AR | BUR#THIX 2 FIAE 1040.0 [200.0]  400.0 1440. 0
14 | AP | BURETHIX 4 IS F] 1560.0 [200.0]  800.0 2360. 0
15 | A8 | BUFE#EIX 4 fE=3E 2340.0 1200.0]  800.0 3140. 0
16 | HAPHEE | BUR#THIX 3 A 2 1560.0 [200.0]  600.0 2160. 0
17 | AR | BUR#THIX 3 ¥ K 1690.0 [200.0]  600.0 2290. 0
18 | HBHsA | BUR#THIX 1 AEIE 650.0 [200.0]  200.0 850. 0
19 | AP | BUR#THIX 2 e 1040.0 [200.0]  400.0 1440. 0
20 | HPHEE | BUFETHEIX 2 R M 1040.0 |200.0]  400.0 1440. 0
21 | HPHEA | BUFETHEIX 2 7K 1040.0 [200.0]  400.0 1440. 0
22 | HFH#E | BUSE#EIX 1 o 520.0 [200.0] 200.0 720. 0
23 | HFH#E | BUSET#EIX 2 Yy 1300.0 [200.0]  400.0 1700. 0
24 | HAFH#E | BUSET#E X 1 E3 b 520.0 [200.0] 200.0 720. 0
25 | HPHE | BURETHEIX 2 Xl ¢ 1300.0 |200.0]  400.0 1700. 0
26 | HFHEE | BUNET#EIX 3 X8 1560.0 [200.0]  600.0 2160. 0
27 | HAFH#E | BUSEHEIX 3 Tk R 1560.0 [200.0] 600.0 2160. 0
28 | HFH#E | BUSET#EIX 2 PR 780.0 [200.0]  400.0 1180. 0
29 | HFH#E | BUSET#EIX 2 R 1040.0 [200.0]  400.0 1440. 0
30 | HPHE | BUFETHEIX 2 frr i 1040.0 |200.0]  400.0 1440. 0
31 | HPHEE | BUN#TFEIX 2 B 1040.0 [200.0]  400.0 1440. 0
32 | HPHE | BUgfist X 2 B 5 1040.0 [200.0]  400.0 1440. 0
33 | HPFHE | BUfgfit X 2 dJk 1040.0 [200.0]  400.0 1440. 0
34 | HPFHE | BuFgfist X 2 =1 780.0 [200.0]  400.0 1180. 0
35 | HBHE | BUFETHEIX 2 B H 1040.0 |200.0]  400.0 1440. 0
36 | FPHE | BUfgfist X 2 L1 780.0 [200.0]  400.0 1180. 0
37 | HBHE | BUgfist X 1 EALEL 390.0 [200.0] 200.0 590. 0
38 | HBHE | BUfgfitX 2 BEZ 910.0 [200.0]  400.0 1310. 0
39 | HPFHE | BUgfistX 1 FI58 650.0 [200.0]  200.0 850. 0
40 | HPHEE | BURETHEIX 1 & 1E 520.0 |200.0]  200.0 720. 0
41 | HFHEE | BUSET#EIX 2 LW REN 780.0 [200.0]  400.0 1180. 0
42 | HAFH#E | BUSE#EIX 1 B E K 650.0 [200.0]  200.0 850. 0
43 | HFH#E | BUSET#EIX 2 & 1300.0 [200.0]  400.0 1700. 0
44 | HAFH#E | BUSET#EIX 2 R IV 5 1300.0 [200.0]  400.0 1700. 0
45 | HAPBHEE | BUFETHEIX 2 2% Fifd Fifd 1040.0 |200.0]  400.0 1440. 0
46 | HFHEE | BUNET#EIX 1 WAEF 650.0 [200.0]  200.0 850. 0
47 | HFHEE | BUSET#EIX 2 PN 1040.0 [200.0]  400.0 1440. 0
48 | HFHEA | BUSETHEIX 1 HE% 520.0  [200.0] 200.0 720. 0




49 | HAFH#E | BUSET#EIX 1 R 390.0 [200.0] 200.0 590. 0
50 | HPHE | BUFETHEIX 2 MRYEE 780.0 |200.0]  400.0 1180. 0
51 | HPFHE | BUfg#it X 3 [SRAGE 1820.0 [200.0]  600.0 2420. 0
52 | HPFHE | BUgfit X 1 7K N HT 520.0  [200.0] 200.0 720. 0
53 | HPFHE | BUF#iE X 2 TRz 1170.0 [200.0]  400.0 1570. 0
54 | HPFHE | BUgfist X 1 B 650.0 [200.0] 200.0 850. 0
55 | HPFHE [ BUFE+HX 1 PR oA 520.0 [200.0] 200.0 720. 0
56 | FIPHEE | BUf#iE X 3 X524 1430.0 [200.0]  600.0 2030. 0
57 | HBHE | BUFfit X 2 7K SCHI 1040.0 [200.0]  400.0 1440. 0
58 | HIPFHE | BUfFfi+tX 3 JE S 1820.0 [200.0]  600.0 2420. 0
59 | HPFHE | BUgfist X 2 i AN 780.0  1200.0]  400.0 1180. 0
60 | FIPFHE | BUFETHEIX 2 ] 1300.0 |200.0]  400.0 1700. 0
61 | HFHEE | BUNET#EIX 1 154 650.0 [200.0]  200.0 850. 0
62 | HFHEE | BUSET#EIX 1 ZIRE 520.0  [200.0] 200.0 720. 0
63 | HFH#E | BUSE#EIX 2 AT 1300.0 [200.0]  400.0 1700. 0
64 | HFHEE | BUSET#EIX 2 XUl o7, B 910.0 [200.0]  400.0 1310. 0
65 | HABHEL | BURFEIHEIX 1 Ly = 390.0 [200.0] 200.0 590. 0
66 | HFHEE | BUNETHEIX 2 i 5 1040.0 [200.0]  400.0 1440. 0
67 | HFH#E | BUSET#EIX 3 AR 1690.0 [200.0]  600.0 2290. 0
68 | HPFH#E | BUSET#EIX 1 BEEE 650.0 [200.0]  200.0 850. 0
69 | HPFHEE | BUSET#EIX 2 2 [H 5 1040.0 [200.0]  400.0 1440. 0
70 | APHE | BUFET#EIX 2 MISLAL 780.0 |200.0]  400.0 1180. 0
71 | HBHE | BUgfiit X 2 e 910.0 [200.0]  400.0 1310. 0
72 | HPFHE | Uit X 1 XI| B 650.0 [200.0]  200.0 850. 0
73 | HBHE | BUgfist X 2 FHE 1040.0 [200.0]  400.0 1440. 0
74 | HPHE | BUgdist X 2 KIRVL 1040.0  [200.0[  400.0 1440. 0
75 | AFHE | BUFEH X 1 XNl 650.0 [200.0]  200.0 850. 0
76 | HPHE | BUgfist X 1 X F5 520.0 [200.0]  200.0 720. 0
77 | HBHE | BUgii X 2 Tk FEIH 780.0 [200.0]  400.0 1180. 0
78 | HPFHE | BUfFfiit X 1 THT 520.0  [200.0]  200.0 720. 0
79 | HBHE | BUgdiit X 1 FHJ 520.0 [200.0] 200.0 720. 0
80 | HIPHE | BURET#EIX 1 mrERE 520.0 |200.0]  200.0 720. 0
81 | HPFHA | BUNET#EIX 1 SO 390.0 [200.0] 200.0 590. 0
82 | HPFHA | BUNET#EIX 2 K5 v 1040.0 [200.0]  400.0 1440. 0
83 | HPFH#A | BUNET#EIX 1 IR 650.0 [200.0]  200.0 850. 0
84 | HPFHA | BUNET#EIX 2 FH%FE 1040.0 [200.0]  400.0 1440. 0
85 | HIPHEE | BURET4EIX 2 B e 1040.0 |200.0]  400.0 1440. 0
86 | HPFHEA | BUNETHEIX 2 = 1040.0 [200.0]  400.0 1440. 0
87 | HPFHA | BUNET#EIX 1 L5 i 650.0 [200.0]  200.0 850. 0
88 | HPFH#A | BUNET#EIX 2 EI 780.0 [200.0]  400.0 1180. 0
89 | HPFHA | BUNET#EIX 2 Je £ 1040.0 [200.0]  400.0 1440. 0
90 | HPHE | BURETHEIX 3 MR 1170.0 |200.0]  600.0 1770. 0
91 | HFH#E | BUNET#EIX 1 EREIE) 520.0 [200.0] 200.0 720. 0
92 | HPFH#E | BUSET#EIX 1 KR EE 650.0 [200.0]  200.0 850. 0
93 | HPFH#E | BUSET#EIX 2 EREAE 780.0 [200.0]  400.0 1180. 0
94 | HFH#A | BUSET#EIX 1 S 390.0 |200.0]  200.0 590. 0
95 | HBHE | BURETHEIX 1 X e 650.0 [200.0] 200.0 850. 0
96 | HFHEE | BUNET#EIX 2 Xl 7K 1040.0 [200.0]  400.0 1440. 0
97 | HFH#E | BUSET#EIX 1 1 [ % 520.0 [200.0] 200.0 720. 0
98 | HPFH#A | BUSET#EIX 1 =il 650.0 [200.0]  200.0 850. 0
99 | HPFH#A | BUNET#EIX 1 [ Lics 520.0 [200.0] 200.0 720. 0
100 | HAPHE | BUFETHEIX 2 oY=t 1040.0 |200.0]  400.0 1440. 0
101 | HPHE | BUggist X 2 X4, 1040.0 [200.0]  400.0 1440. 0
102 | HPFHE [ BUg#it X 1 K 650.0 [200.0]  200.0 850. 0




103 | HPFHEE | BUS#ETFEIX 2 Sk 780.0  |200.0[  400.0 1180. 0
104 | HPFHE | BUF#t X 1 X[ %% 650.0  [200.0]  200.0 850. 0
105 | HPHEE | BUN#TFEIX 3 iEXRE 1300.0 [200.0[  600.0 1900. 0
106 | HPFHEE | BUSETHEIX 1 [T 520.0  1200.0[  200.0 720. 0
107 | HPHEE | BUBETHEIX 2 HEE 1040.0 [200.0[  400.0 1440. 0
108 | HPFHEE | BUN#TFEIX 2 S| T A 780.0  |200.0[  400.0 1180. 0
109 | HPFHE | BUg#it X 2 TeHELE 780.0  [200.0]  400.0 1180. 0
110 | HFHEE | BUBETHEIX 1 ERT 520.0  1200.0[  200.0 720.0
111 | APHE | BUSEEIX 1 T B 390.0  |200.0[  200.0 590. 0
112 | APHE | BUSEEIX 2 Y 75 1170.0 [200.0[  400.0 1570. 0
113 | AFHEE | BUSHEEIX 1 R 650.0  ]200.0]  200.0 850. 0
114 | APHE | BUggist X 3 PR 1820.0 [200.0[  600.0 2420. 0
115 | HFHEE | BUS#ET#EIX 2 TR 1040.0 [200.0[  400.0 1440. 0
116 | HPFHEE | BUSETHEIX 3 IR 1560.0 [200.0[  600.0 2160.0
117 | AFHE | BUSBE+EIX 1 R 520.0  1200.0[  200.0 720. 0
118 | HPFHEE | BUN#T#EIX 3 REEH 1560.0 [200.0[  600.0 2160. 0
119 | HPFHE | BUggit X 1 M= 650.0  [200.0]  200.0 850. 0
120 | HPHEE | BUNETFEIX 2 LIES'S 910.0  ]200.0]  400.0 1310. 0
121 | HPHE | BUBETHEIX 2 E O 1040.0  [200.0[  400.0 1440. 0
122 | HAFHE | BUSETHEIX 1 HEARAL 520.0  |200.0[  200.0 720. 0
123 | HFHEE | BUSHETHEIX 3 FH 1560.0 [200.0[  600.0 2160. 0
124 | APHE | BUg#it X 2 215 910.0  [200.0]  400.0 1310. 0
125 | HFHEE | BUS#ETFEIX 1 Jial A 390.0  |200.0[  200.0 590. 0
126 | HPFHEE | BUSETHEIX 1 X 78, % 650.0  ]200.0]  200.0 850. 0
127 | AFHE | BUSETHEIX 1 EFIH] 650.0  ]200.0]  200.0 850. 0
128 | HPFHEE | BUS#ETFEIX 4 e 2210.0 [200.0]  800.0 3010.0
129 | HPFHE | BUg#it X 2 b 1040.0  [200.0[  400.0 1440. 0
130 | HIPHEE | BUNETFEIX 2 Mk 910.0  ]200.0]  400.0 1310. 0
131 | HFHE | BUSETHEIX 5 PR 2730.0  [200.0] 1000.0 3730. 0
132 | EAPHEE | AW AR X 1 K A 2 520.0  |200.0]  200.0 720. 0
133 | EAPHEE | AW H4E X 1 2= 650.0  [200.0]  200.0 850. 0
134 | FAPHEE | HRETREX 2 iNASN 780.0  |200.0[  400.0 1180. 0
135 | EAPHEE | AR H74E X 1 REY 650.0  [200.0]  200.0 850. 0
136 | FAPHEE | ABWm[H74E X 1 BRI 520.0  [200.0] 200.0 720. 0
137 | FAPHEE | FRETREX 2 A 1040.0 [200.0[  400.0 1440. 0
138 | HAPHEE | AW H74E[X 1 X H AL 650.0  [200.0]  200.0 850. 0
139 | HAPHEE | AW AL X 2 AN 4 1300.0 [200.0[  400.0 1700. 0
140 | FIPHEE | FWRETREX 2 X2 780.0  |200.0[  400.0 1180. 0
141 | HAPHEE | AW AL X 1 ITET 390.0  [200.0]  200.0 590. 0
142 | HAPHEE | AW AL X 1 ANIA 390.0  [200.0] 200.0 590. 0
143 | HAPHEE | AW AL X 1 Y= 390.0  |200.0[  200.0 590. 0
144 | FAPHEE | HRETREX 2 KE4 1040.0  |200.0[  400.0 1440. 0
145 | FAPHEE | AR ET4E X 2 E it 1170.0 |200.0]  400.0 1570.0
146 | HAPHEE | AW AL X 1 T AiH 520.0  [200.0] 200.0 720.0
147 | HAPHEE | AW AT X 3 B S S 1690.0 [200.0[  600.0 2290. 0
148 | HAPHEE | AW H4E X 1 R 390.0  |200.0[  200.0 590. 0
149 | FAPHEE | HRETREX 1 R 520.0  |200.0[  200.0 720.0
150 | FAPHEE | AR H74E X 2 (LR 1300.0 [200.0[  400.0 1700. 0
151 | EAPHEE | AR HT4E X 1 Z=EME 390.0  [200.0] 200.0 590. 0
152 | EAPHEE | AW H74E X 1 xR E 650.0  [200.0]  200.0 850. 0
153 | EAPHEE | AW H74E X 1 i ALK 650.0  [200.0]  200.0 850. 0
154 | EAPHEE | AW AL X 2 B/ g 1040.0  [200.0[  400.0 1440. 0
155 | EAPHEE | AR H74E X 2 S [ 1300.0 |200.0]  400.0 1700. 0
156 | EAPHEE [ AR AL X 1 ZIEE 520.0  [200.0]  200.0 720.0




157 | EPHEE | A sk X 1 Wi 5,3 390.0 [200.0] 200.0 590. 0
158 | FIPHEE | A st X 2 i 910.0 [200.0]  400.0 1310. 0
159 | FIPHEE | A st X 1 i 390.0 [200.0] 200.0 590. 0
160 | FIPHE | A sk X 2 N 1040.0 |200.0]  400.0 1440. 0
161 | FPHE [ A st X 3 FREERS 1560.0 |200.0]  600.0 2160. 0
162 | EAPHEE | AW A4k X 1 I it 520.0  [200.0] 200.0 720. 0
163 | FIPHE | Atk X 1 K& B 520.0 |200.0]  200.0 720. 0
164 | FIPHEE [ A st X 3 FBEE 1560.0 |200.0]  600.0 2160. 0
165 | FIPHE [ A sk X 1 Y5 520.0 |200.0[ 200.0 720. 0
166 | FIPHE | Atk X 1 A= 650.0 [200.0[ 200.0 850. 0
167 | FPHEE | A g4k X 2 Hhg| 5 1040.0 [200.0]  400.0 1440. 0
168 | FIPHEE | Atk X 1 /N 650.0 [200.0] 200.0 850. 0
169 | FIPHEE | A st X 1 XU 650.0 [200.0] 200.0 850. 0
170 | FPHEE | A sk X 1 EAR 650.0 [200.0] 200.0 850. 0
171 | FPHE | B st X 1 RS 650.0 [200.0] 200.0 850. 0
172 | EAPHEE | AW A4 IX 4 Pin S 2340.0 [200.0]  800.0 3140. 0
173 | FPHEE | A sk X 1 PR 390.0 |200.0]  200.0 590. 0
174 | FPHEE | B st X 1 U 650.0 [200.0]  200.0 850. 0
175 | FPHE | A st X 1 2L 650.0 [200.0] 200.0 850. 0
176 | FPHE | A st X 2 KR )L 1300.0 |200.0]  400.0 1700. 0
177 | EPHEE | A Ak X 1 [k 520.0 [200.0] 200.0 720. 0
178 | FHPHEE | A itk X 1 K== EL 520.0 |200.0]  200.0 720. 0
179 | FPHEE | A st X 2 i i 1040.0 |200.0]  400.0 1440. 0
180 | FIPHEE [ Ay sk X 1 ML 650.0 [200.0[ 200.0 850. 0
181 | FHPHE | A st X 2 wER 1300.0 |200.0]  400.0 1700. 0
182 | EAPHEE | AW Atk X 3 LK 1560.0 [200.0]  600.0 2160. 0
183 | FIPHEE [ Atk X 2 K 780.0 [200.0]  400.0 1180. 0
184 | FIPHEE [ A sk X 2 A 1040.0 [200.0]  400.0 1440. 0
185 | FIPHEE [ Atk X 3 S PINEN 1300.0 |200.0]  600.0 1900. 0
186 | FIPHEE [ Atk X 1 K== 520.0 |200.0]  200.0 720. 0
187 | HHPHEE | A sk X 1 BRI 650.0 [200.0]  200.0 850. 0
188 | FAPHEE | AW HE X 1 FhEE 390.0 [200.0] 200.0 590. 0
189 | FIPHEE [ A st X 2 A 1040.0 |200.0]  400.0 1440. 0
190 | FHPHEE | A sk X 1 B = 650.0 [200.0[ 200.0 850. 0
191 | FHPHE | A st X 2 XFE 910.0 [200.0] 400.0 1310. 0
192 | EAPHEE | AW Ak IX 1 7K 5P 650.0 [200.0]  200.0 850. 0
193 | EAPHEE | AW Atk X 1 Xl EE 650.0 [200.0]  200.0 850. 0
194 | FIPHEE | A st X 3 F4kE 1300.0 [200.0]  600.0 1900. 0
195 | FHPHE [ A st X 2 A 910.0 [200.0]  400.0 1310. 0
196 | FIPHE [ A st X 1 ERES 650.0 [200.0] 200.0 850. 0
197 | HHPHEE | A sk X 2 MmN EE 780.0 [200.0]  400.0 1180. 0
198 | FAPHEE | AR Atk X 1 Sk 650.0 [200.0]  200.0 850. 0
199 | FIPHEE | A st X 2 B2 1040.0 |200.0]  400.0 1440. 0
200 | EIPHAR | AT AL X 1 FB 650.0 [200.0] 200.0 850. 0
201 | FIRHAR | AT AL X 2 1EX 1170.0 |200.0]  400.0 1570. 0
202 | EIPHAR | AT AL X 4 LKA 2210.0 1200.0/  800.0 3010. 0
203 | FIBHEL | KB IX 2 EFARAN 1040.0 [200.0]  400.0 1440. 0
204 | FIPHAR | AT AL X 2 (ERE=i] 1040.0 |200.0]  400.0 1440. 0
205 | EIBHAR | AT AL X 2 EF 1170.0 |200.0[  400.0 1570. 0
206 | FIBHAR | AT AL X 1 K& AR 650.0 [200.0[ 200.0 850. 0
207 | EAPHAR | AT AL X 2 2 1040.0 [200.0]  400.0 1440. 0
208 | FIBHAL | KB IX 2 = 780.0 [200.0]  400.0 1180. 0
209 | FIPHAR | AT AL X 5 =i 1950.0 [200.0] 1000.0 2950. 0
210 | FIBHAR | AT AL X 2 L 3y 1300.0 |200.0]  400.0 1700. 0




211 | FPHAR | AT AL X 3 F 4 1560.0 [200.0]  600.0 2160. 0
212 | HPBHAR | AT AL X 1 JE v % 520.0 |200.0]  200.0 720. 0
213 | FIBHAR | A AL X 2 F 4kl 1040.0 [200.0]  400.0 1440. 0
214 | EBHAR | AT AL X 4 XA 2340.0 [200.0]  800.0 3140. 0
215 | FIBHAR | A AL IX 1 LR 650.0 [200.0[ 200.0 850. 0
216 | EAPHAR | AT AL X 1 JRYEZ 390.0 |200.0]  200.0 590. 0
217 | HBHAR | AT AL X 1 X 650.0 [200.0]  200.0 850. 0
218 | FIPHAR | A AL X 2 R % 910.0 [200.0] 400.0 1310.0
219 | HIBHAR | AT AL X 2 wmtZE 910.0 [200.0[ 400.0 1310. 0
220 | FIBHAR | AT AL X 1 X — 4k 520.0 |200.0]  200.0 720. 0
221 | EAPHAR | AT AL X 2 RFEE 1170.0 [200.0]  400.0 1570. 0
222 | EPBHAR | AT AL X 2 2RI 780.0 |200.0]  400.0 1180. 0
223 | FABHAR | AT AL X 1 BEEERS 390.0 [200.0]  200.0 590. 0
224 | EBHAR | AT AL X 2 FBEE 910.0 [200.0]  400.0 1310. 0
225 | EIBHAR | AT AL X 1 R 520.0 |200.0[ 200.0 720. 0
226 | EAPBHAR | AT AL X 2 T 780.0 [200.0]  400.0 1180. 0
227 | HABHAR | AT AL X 1 X U 650.0 [200.0] 200.0 850. 0
228 | FIPHAR | AT AL X 2 R 1300.0 |200.0]  400.0 1700. 0
229 | EIBHAR | AT AL X 4 G 2080.0 1200.0]  800.0 2880. 0
230 | FIBHAR | AT AL X 4 FaF 1690.0 |200.0[ 800.0 2490. 0
231 | EAPHAR | AT AL X 1 (Rl 650.0 [200.0]  200.0 850. 0
232 | EABHAR | AT AL X 2 Tt ik 1040.0 |200.0]  400.0 1440. 0
233 | EABHAR | A AL X 2 PN 910.0 [200.0]  400.0 1310.0
234 | EBHAR | AT AL X 2 FEMAH 1300.0 |200.0[  400.0 1700. 0
235 | EABHAR | AT AL X 2 ! 1300.0 |200.0]  400.0 1700. 0
236 | EABHAR | AT AL X 2 EEE 1300.0 [200.0]  400.0 1700. 0
237 | EABHAR | AT AL X 1 KSR 520.0  |200.0]  200.0 720. 0
238 | FABHAR | A AL X 1 T [EH 650.0 [200.0] 200.0 850. 0
239 | EIBHAR | AT AL X 3 AT 1690.0 |200.0]  600.0 2290. 0
240 | FIBHAR | AT AL X 2 L 5 R 1040.0 |200.0]  400.0 1440. 0
241 | EBHAR | R AL X 2 EE, s 1040.0 [200.0]  400.0 1440. 0
242 | HBHAR | AT AL X 2 [CiBEIRAN 1040.0 [200.0]  400.0 1440. 0
243 | FABHAR | AT AL X 1 XU, 650.0 [200.0]  200.0 850. 0
244 | EBHAR | AT AL X 1 Ve 57T 520.0 |200.0]  200.0 720. 0
245 | FIBHEL | B IX 2 REE 1040.0 [200.0]  400.0 1440. 0
246 | HAPBHAR | AT AL X 1 Wit 650.0 [200.0] 200.0 850. 0
247 | EABHAR | I T AL X 2 W75 1040.0 [200.0]  400.0 1440. 0
248 | FABHAR | AT AL X 3 el 1560.0 [200.0]  600.0 2160. 0
249 | EBHAR | AT AL X 2 SEM 1170.0 |200.0]  400.0 1570. 0
250 | FIBHAR | AT AL X 2 7K ol 1040.0 |200.0[  400.0 1440. 0
251 | EAPHAR | AT AL X 2 HVE 910.0 [200.0]  400.0 1310. 0
252 | FABHAR | AT AL X 2 st E 1040.0 [200.0]  400.0 1440. 0
253 | FAPHAR | A AL X 1 K=E 520.0 [200.0]  200.0 720. 0
254 | EIBHAR | AT AL X 1 5 650.0 [200.0[ 200.0 850. 0
255 | EABHAR | AT AL X 1 7K 3L 390.0 |200.0]  200.0 590. 0
256 | EAPHAR | A T4 X 1 05 650.0 [200.0]  200.0 850. 0
257 | EABHAR | AT AL X 1 A 520.0 |200.0]  200.0 720. 0
258 | FABHAR | A AL X 2 g 1300.0 [200.0]  400.0 1700. 0
259 | EIBHAR | AT AL X 1 VBTt 520.0 |200.0[ 200.0 720. 0
260 | FIBHAR | AT AL X 1 7K ER NI 650.0 [200.0[ 200.0 850. 0
261 | EAPHAR | AT AL X 1 BV SR 520.0 |200.0]  200.0 720. 0
262 | EIPBHAR | AT AL X 1 N 650.0 [200.0]  200.0 850. 0
263 | FIPBHAR | AL IX 2 o [ 780.0 |200.0]  400.0 1180. 0
264 | EIBHAR | AT AL X 3 FEL 1170.0 |200.0[ 600.0 1770. 0




265 | FIPHER | AT IX 2 X% 780.0  |200.0[  400.0 1180. 0
266 | FIPHEA | AR 54X 2 e 1040.0 [200.0[  400.0 1440. 0
267 | FIPHER | AT AEIX 1 ZR/NE 650.0  [200.0]  200.0 850. 0
268 | FIPHEA | AT A IX 2 R 910.0  [200.0]  400.0 1310. 0
269 | FIPHER | AT ETAEIX 2 TEAL 1040.0  [200.0[  400.0 1440. 0
270 | FIPHER | AT AEIX 2 JE KA 1040.0 [200.0[  400.0 1440. 0
271 | HIPHEA | A4 X 1 ot 650.0  ]200.0]  200.0 850. 0
272 | EIPHEA | AR A4 X 1 3 390.0  |200.0[  200.0 590. 0
273 | HIPHER | AR AR IX 2 MAEZE 1170.0 [200.0[  400.0 1570. 0
274 | HPHEL | AT AIX 2 L i 1040.0 |200.0]  400.0 1440. 0
275 | HIPHER | AT AIX 2 RSN 1040.0 [200.0[  400.0 1440. 0
276 | FIPHEL | AT AEIX 2 XI] g i 1040.0  [200.0[  400.0 1440. 0
277 | HIPHER | AT AR IX 3 - N 1690.0 [200.0[  600.0 2290. 0
278 | FIPHEA | AT AEIX 1 [ 390.0  [200.0] 200.0 590. 0
279 | HIPHER | AT ARIX 2 2o il 780.0  |200.0]  400.0 1180.0
280 | FIPHER | AT EAEIX 1 K 650.0  [200.0]  200.0 850. 0
281 | FIPHEA | A 54X 2 BEE 910.0  ]200.0]  400.0 1310. 0
282 | FIPHEA | AR H54E X 3 Ji 1950.0 [200.0[  600.0 2550. 0
283 | FIPHEA | AR EAEIX 2 M 780.0  |200.0]  400.0 1180.0
284 | FIPHER | AT ETAEIX 1 Xl B A 390.0  [200.0]  200.0 590. 0
285 | FIPHER | AT X 3 Kz~ 1560.0 [200.0[  600.0 2160. 0
286 | FIPHEA | AT IX 1 HEH 650.0  [200.0]  200.0 850. 0
287 | EIPHEA | A 54X 2 Bh% 1040.0 [200.0[  400.0 1440. 0
288 | FIPHEA | AT IX 1 AR R 390.0  [200.0]  200.0 590. 0
289 | FIPHEA | AT ETHEIX 3 HEE 1560.0 [200.0[  600.0 2160. 0
290 | FIPHER | AT EAEIX 2 e EE 780.0  |200.0[  400.0 1180. 0
291 | FIPHER | AT IX 2 K F5 T 1040.0  [200.0[  400.0 1440. 0
292 | FIPHER | AT AEIX 2 mEIgE 1300.0 [200.0[  400.0 1700. 0
293 | FIPHER | AT ETAEIX 2 JEVF 1170.0 [200.0[  400.0 1570. 0
294 | FIPHER | AT AEIX 1 K 520.0  [200.0] 200.0 720. 0
295 | FIPHER | AT IX 1 5g JLEK 520.0  1200.0[  200.0 720.0
296 | FIPHER | AT AEIX 1 T3 650.0  [200.0]  200.0 850. 0
297 | FIPHER | AT AEIX 2 REE 1300.0 [200.0[  400.0 1700. 0
298 | FIPHER | AT EAEIX 1 - N 520.0  [200.0] 200.0 720. 0
299 | FIPHER | AT ETAEIX 1 R CHE 520.0  [200.0] 200.0 720. 0
300 [ FAPHEE | AW EAIX 2 B 1040.0 [200.0[  400.0 1440. 0
301 | FIPHEA | AR AR IX 2 bing ] 780.0  |200.0[  400.0 1180. 0
302 | FIPHEE | AW ETHIX 1 [/ 390.0  [200.0] 200.0 590. 0
303 [ FIPHEA | AT ETAIX 2 B 910.0  [200.0]  400.0 1310. 0
304 [ FIPHEE | A ETHIX 1 T4 650.0  [200.0]  200.0 850. 0
305 [ FAPHEE | AW EHIX 3 [R5 1690.0 [200.0[  600.0 2290. 0
306 [ FIPHEE | AT EHIX 3 HCE 1560.0 [200.0[  600.0 2160.0
307 | EIBHEA | ARV IX 3 K11 1690.0 [200.0[  600.0 2290. 0
308 [ FAPHEA | AT ETHEIX 2 i 2R 1040.0  [200.0[  400.0 1440. 0
309 [ FIPHEE | A ETHEIX 1 XY 520.0  |200.0]  200.0 720. 0
310 [ FAPHEA | AW EHEIX 2 B E A 1300.0 [200.0[  400.0 1700. 0
311 | HIPHEA | A g4 IX 1 i 650.0  ]200.0]  200.0 850. 0
312 | FIPHEA | AW ETHIX 2 W5 780.0  [200.0]  400.0 1180. 0
313 | HIPHEA | AW EHIX 3 s 1560.0 [200.0[  600.0 2160. 0
314 | HIPHEA | A ETHIX 1 el 520.0  [200.0] 200.0 720. 0
315 | FAPHEE | AW X 1 KV % 520.0  1200.0[  200.0 720. 0
316 | FIPHEE | AW EIHEIX 1 A 650.0  [200.0]  200.0 850. 0
317 | EIBHEA | ARV A X 1 M2 520.0  1200.0[  200.0 720.0
318 [ FAPHEA | AW ETHEIX 1 ] 650.0  [200.0]  200.0 850. 0




319 | HPHEE | A AL X 1 XI5 A 520.0 [200.0] 200.0 720. 0
320 | FIBHEL | AR X 1 kAR 520.0 [200.0] 200.0 720. 0
321 | EAPHEA | AR AL X 2 FrT 780.0 |200.0]  400.0 1180. 0
322 | HAPHEE | A A4 X 2 Al 780.0 |200.0]  400.0 1180. 0
323 | HAPHER | KR A4 IX 1 X554 390.0 [200.0] 200.0 590. 0
324 | HAPHEE | A A4 X 1 T 390.0 [200.0] 200.0 590. 0
325 | FIBHEL | AR X 1 ZEp 2% 520.0 [200.0] 200.0 720. 0
326 | FIBHEA | AR X 1 X [ 46 520.0 [200.0] 200.0 720. 0
327 | HAPHEE | AR A4 X 3 mE% 1560.0 |200.0]  600.0 2160. 0
328 | HAPHER | K A4k 1X 1 XIS 520.0 |200.0]  200.0 720. 0
329 | HPHEA | A AL X 1 X8 650.0 [200.0]  200.0 850. 0
330 | HAPHEE | A AL IX 3 R 1560.0 |200.0]  600.0 2160. 0
331 | EAPHEA | A AL X 2 AN IR 1040.0 [200.0]  400.0 1440. 0
332 | EAPHEA | A AL X 1 RES 650.0 [200.0] 200.0 850. 0
333 | EAPHER | K A4 IX 1 T2 520.0 |200.0[ 200.0 720. 0
334 | HAPHEE | A A4 X 1 BRIk 650.0 [200.0] 200.0 850. 0
335 | EAPHER | A AL IX 1 ot 650.0 [200.0] 200.0 850. 0
336 | EAPHEA | A A4k X 1 B 650.0 [200.0] 200.0 850. 0
337 | EAPHEE | A AL X 3 =4k 1820.0 |200.0[ 600.0 2420. 0
338 | EFAPHER | A4k 1X 1 T 520.0 |200.0[ 200.0 720. 0
339 | HPHEE | A AL X 1 LIOE 650.0 [200.0] 200.0 850. 0
340 | FIBHEL | AR X 2 KK 910.0 [200.0]  400.0 1310. 0
341 | EAPHEA | AR AT AL X 1 AFE 650.0 [200.0] 200.0 850. 0
342 | HAPHEE | AR A4 X 2 XYE B 1040.0 |200.0[  400.0 1440. 0
343 | HPHEE | AR A4 X 1 EiE 650.0 [200.0] 200.0 850. 0
344 | HAPHEE | A A4 X 1 KEE 520.0 [200.0] 200.0 720. 0
345 | HAPHEE | AR A4 X 2 o e, 2 1040.0 |200.0]  400.0 1440. 0
346 | EAPHEA | A AL X 2 R 1040.0 |200.0]  400.0 1440. 0
347 | HPHEE | AR AT AL X 1 BAREE 650.0 [200.0] 200.0 850. 0
348 | HPHER | K A4 IX 1 13t 650.0 [200.0] 200.0 850. 0
349 | HPHEE | A A4 X 1 /Nl 650.0 [200.0] 200.0 850. 0
350 | EAPHEE | AR AL IX 2 AT 910.0 [200.0]  400.0 1310. 0
351 | EAPHEA | A AL X 1 KEELE 650.0 [200.0]  200.0 850. 0
352 | EAPHEE | A AL IX 2 7B 1040.0 |200.0]  400.0 1440. 0
353 | EAPHER | K AL IX 2 AR 910.0 [200.0] 400.0 1310. 0
354 | HAPHEE | A AL IX 1 LAV 650.0 [200.0]  200.0 850. 0
355 | EAPHER | A AL X 2 TR 780.0 |200.0]  400.0 1180. 0
356 | EAPHEA | A AL X 1 JBiEE 650.0 [200.0] 200.0 850. 0
357 | EAPHER | AR AL X 1 NS 650.0 [200.0] 200.0 850. 0
358 | FAPHER | A4k 1X 2 R 1170.0 |200.0]  400.0 1570. 0
359 | HPHEA | A AL X 1 B 520.0 [200.0] 200.0 720. 0
360 | EAPHER | A AT4E X 2 A 910.0 [200.0]  400.0 1310. 0
361 | FAPHEA | A A4k X 1 AN 650.0 [200.0] 200.0 850. 0
362 | EAPHEE | A A4k X 2 Ly /N 1040.0 |200.0]  400.0 1440. 0
363 | EAPHER | K A4k X 1 M7= 520.0 |200.0]  200.0 720. 0
364 | HAPHEE | A A4 X 1 L 650.0 [200.0]  200.0 850. 0
365 | EAPHER | KAk IX 3 iy 1690.0 |200.0]  600.0 2290. 0
366 | FIPHEA | A Ak IX 2 [y 780.0 |200.0]  400.0 1180. 0
367 | EAPHEE | AR A4 X 1 L) 5P 650.0 [200.0] 200.0 850. 0
368 | EAPHER | K A4k 1X 2 MR AR 1170.0 |200.0[  400.0 1570. 0
369 | HAPHEA | A AL X 2 AR 1040.0 [200.0]  400.0 1440. 0
370 | HAPHEE | AR AT AL IX 3 PRI 1560.0 |200.0]  600.0 2160. 0
371 | EAPHEA | AR A4 X 1 CES 520.0 |200.0]  200.0 720. 0
372 | HAPHEE | AR AR X 3 VL= 1690.0 |200.0[ 600.0 2290. 0




373 | HAPHEA | A AT AL X 1 T 650.0 [200.0] 200.0 850. 0
374 | HAPHEE | AR TR X 2 LA 780.0 |200.0]  400.0 1180. 0
375 | EAPHEA | A A4 X 3 SEIE 1300.0 |200.0]  600.0 1900. 0
376 | HAPHEE | A A4 X 1 RES 650.0 [200.0]  200.0 850. 0
377 | HABHE | AR A X 1 R & 650.0 [200.0]  200.0 850. 0
378 | HPHEA | A AL X 2 R 1040.0 [200.0]  400.0 1440. 0
379 | FIBHEL | AR X 3 XL o 1560.0 [200.0]  600.0 2160. 0
380 | FAPHEA | A A4k 1X 1 Iy HEAE 520.0 |200.0]  200.0 720. 0
381 | HAPHEA | A A4k 1X 5 St 2600.0 1200.0] 1000.0 3600. 0
382 | HAPHER | K A4k 1X 3 LR 1690.0 |200.0]  600.0 2290. 0
383 | HAPHEA | A ATk 1X 3 7K /NBH 1300.0 [200.0]  600.0 1900. 0
384 | FIBHEL | AR IX 1 JE =%t 650.0 [200.0]  200.0 850. 0
385 | EAPHEA | A A4k [X 1 HEB 520.0 [200.0]  200.0 720. 0
386 | EAPHEA | A A4k [X 2 52 1300.0 |200.0]  400.0 1700. 0
387 | HAPHER | A A4k X 1 Il 520.0 |200.0[ 200.0 720. 0
388 | HPHEA | A ATk 1X 4 SHA 1950.0 [200.0]  800.0 2750. 0
389 | HPHEA | A A4k 1X 2 g 910.0 [200.0]  400.0 1310. 0
390 | FAPHEA | A AL X 2 IR 1170.0 |200.0]  400.0 1570. 0
391 | HAPHEE | AR AL X 2 I 780.0 |200.0]  400.0 1180. 0
392 | HPHER | AR A4 X 2 S 910.0 [200.0]  400.0 1310. 0
393 | HPHEE | AHAT#EIX 3 2295 1430.0 [200.0]  600.0 2030. 0
394 | HFHEL | AHEHIX 1 FE 650.0 [200.0] 200.0 850. 0
395 | HPHEA | RAEA#EIX 2 +55 910.0 [200.0] 400.0 1310.0
396 | HPHEE | REA#EIX 2 N 1040.0 |200.0]  400.0 1440. 0
397 | HPHEE | RIEA#EIX 1 A 650.0 [200.0] 200.0 850. 0
398 | HPHEA | AHATHEIX 1 7K v 4 520.0 [200.0] 200.0 720. 0
399 | HFHEL | AHEHEIX 1 | a05 520.0  |200.0]  200.0 720. 0
400 | FIPHAR | AdEETHX 1 7K e 390.0 |200.0]  200.0 590. 0
401 | HBHAR | AdEETAX 2 SEERR 780.0 |200.0]  400.0 1180. 0
402 | HBHAR | AEETHIX 1 Ve S 520.0 |200.0]  200.0 720. 0
403 | HPHAR | AdEETH X 1 A 650.0 [200.0] 200.0 850. 0
404 | HFESL | AGHEHEIX 1 MR BT 650.0 [200.0] 200.0 850. 0
405 | EIPHAR | AdEETHX 2 kv 1040.0 |200.0]  400.0 1440. 0
406 | HIPBHAR | AdEETAX 2 e el 910.0 [200.0] 400.0 1310. 0
407 | HBHAR | AEETHIX 1 T il 520.0 |200.0]  200.0 720. 0
408 | HPHAR | AdEETH X 3 JEREE 1300.0 [200.0]  600.0 1900. 0
409 | HFHESBL | AHAHEIX 1 EFEEH 520.0 |200.0]  200.0 720. 0
410 | HIPHAR | AdEETHX 1 i S 520.0 [200.0]  200.0 720. 0
411 | HABHER | AT X 1 AN g 390.0 |200.0]  200.0 590. 0
412 | HABHER | AdEETHIX 2 1] 7 iy 1170.0 |200.0]  400.0 1570. 0
413 | HAPHER | AT X 1 R 390.0 [200.0]  200.0 590. 0
414 | A8 | AEEEIX 2 B EhR 1170.0 |200.0]  400.0 1570. 0
415 | HAPBHAR | AT X 1 Y B B 390.0 [200.0]  200.0 590. 0
416 | HAPBHAR | AdEiTH X 1 R 650.0 [200.0] 200.0 850. 0
417 | ABHER | AdEETAIX 1 R 520.0 |200.0]  200.0 720. 0
418 | HPHAR | AT X 1 XN & 3 390.0 [200.0] 200.0 590. 0
419 | HFES | AHEEIX 3 ZRiAE 1560.0 |200.0]  600.0 2160. 0
420 | HIPHAR | AdEETHX 1 75 = 520.0  |200.0]  200.0 720. 0
421 | HABHAR | AdEETAX 2 B AE 910.0 [200.0] 400.0 1310. 0
422 | HABHAR | AiEETHIX 1 5K I 520.0 |200.0]  200.0 720. 0
423 | HAPHAR | AdEETH X 1 A EE 520.0 [200.0] 200.0 720. 0
424 | HFEB | AHEEIX 3 RN 1560.0 |200.0]  600.0 2160. 0
425 | HPBHAR | AdEETHX 2 Eih 1170.0 |200.0]  400.0 1570. 0
426 | HAPBHAR | AdEETHIX 1 i 5545 520.0 |200.0]  200.0 720. 0




427 | HPHEL | AEETHIX 1 EE® 650.0  ]200.0]  200.0 850. 0
428 | FIPHEL | AiEfIHIX 1 PV 520.0  1200.0[  200.0 720.0
429 | HIPHER | AOEETHIX 1 [l 650.0  [200.0]  200.0 850. 0
430 | HIPHER | AEETHIX 2 EEE 780.0  [200.0]  400.0 1180. 0
431 | HIPHER | AEETHIX 3 15 [ 1560.0 [200.0[  600.0 2160. 0
432 | HPHEA | AiEAHIX 1 EEiE 390.0  |200.0[  200.0 590. 0
433 | FBHEL | AiEfIHIX 2 R 1040.0 [200.0[  400.0 1440. 0
434 | HIPHER | AEETHEIX 3 HHES 1560.0 [200.0[  600.0 2160.0
435 | HIPHER | AEETHIX 3 Rt 1950.0  [200.0[  600.0 2550. 0
436 | FIPHER | AEETHIX 2 REETS 1170.0 [200.0[  400.0 1570. 0
437 | HPHER | AEETHIX 1 ey 520.0  1200.0[  200.0 720. 0
438 | FABHEL | AiEfIHIX 1 kS 520.0  1200.0[  200.0 720.0
439 | HIPHER | AEETHEIX 2 ERAR 1170.0  [200.0[  400.0 1570. 0
440 | HIPHER | AEETHIX 2 TR AR T 910.0  [200.0]  400.0 1310. 0
441 | HPHEE | AREETHIX 1 T REE 520.0  [200.0] 200.0 720. 0
442 | HPHEL | AEETHIX 3 FRARAM 1430.0 [200.0[  600.0 2030. 0
443 | APEEL | AEfIHIX 3 X% 1820.0 [200.0[  600.0 2420. 0
444 | HPHEE | AOEETHEIX 1 e 520.0  [200.0] 200.0 720.0
445 | HIPHER | AEETHIX 1 f 390.0  [200.0]  200.0 590. 0
446 | HIPHER | AOEBTHIX 2 KA 1040.0  [200.0[  400.0 1440. 0
447 | HPHEL | AEETHIX 1 HLRE 390.0  [200.0] 200.0 590. 0
448 | HAPBHAR | AdEETHIX 2 oRES 1040.0  [200.0[  400.0 1440. 0
449 | HIPHER | AOEETHIX 2 SR 1040.0  [200.0[  400.0 1440. 0
450 | HIPHER | AEETHIX 2 i e 1040.0  [200.0[  400.0 1440. 0
451 | HIPHER | AEETHIX 1 X E R 650.0  [200.0]  200.0 850. 0
452 | AR | KX 1 X & E 520.0  |200.0[  200.0 720.0
453 | HAPHAR | AdEETH X 2 BT 1040.0  [200.0[  400.0 1440. 0
454 | HIPHER | AOEETHIX 3 K= = 1950.0  [200.0[  600.0 2550. 0
455 | HIPHER | AEETHIX 1 1094 390.0  [200.0] 200.0 590. 0
456 | FIPHER | AEETHIX 2 T 1170.0 [200.0[  400.0 1570. 0
457 | HPHER | AEETHIX 1 = 520.0  1200.0[  200.0 720.0
458 | FIBHEL | AiEfIHIX 1 BEVR A 520.0  1200.0[  200.0 720.0
459 | HIPHER | AEETHIX 2 MroRis 1040.0  [200.0[  400.0 1440. 0
460 | FIPHEA | AEETHIX 3 Z A 1560.0 [200.0[  600.0 2160. 0
461 | FIPHEA | AEETHIX 4 WE AR BK 1560.0 [200.0[  800.0 2360. 0
462 | FIPHEA | AEETHIX 1 R X 520.0  1200.0[  200.0 720.0
463 | HPBHAR | AdEETHIX 1 75 g5 650.0  [200.0]  200.0 850. 0
464 | FIPHER | AOEETHEIX 2 HEE 1040.0  [200.0[  400.0 1440. 0
465 | FIPHEA | AEETHIX 2 [hi7 1040.0  [200.0[  400.0 1440. 0
466 | FIPHEA | AEETHIX 2 BT 1300.0 [200.0[  400.0 1700. 0
467 | HIPHEL | AEETHIX 1 = 650.0  [200.0]  200.0 850. 0
468 | HPBHAR | AdEETHIX 2 TR SFIT 1170.0  [200.0[  400.0 1570. 0
469 | FIPHER | AEETHEIX 1 HBAE AR 650.0  [200.0]  200.0 850. 0
470 | HIPHER | AEETHIX 1 2R 520.0  [200.0] 200.0 720. 0
471 | HPHER | AREETHIX 2 1 iR 1040.0  [200.0[  400.0 1440. 0
472 | HPHEL | AEETHIX 2 R 1170.0 [200.0[  400.0 1570. 0
473 | HAPBHER | AdEETHIX 2 ot B 1040.0  [200.0[  400.0 1440. 0
474 | HPHER | AOEETHIX 1 ALY 650.0  [200.0]  200.0 850. 0
475 | HPHER | AEETHIX 2 R 1040.0  [200.0[  400.0 1440. 0
476 | HIPHEL | AEETHEIX 1 bk 520.0  [200.0] 200.0 720. 0
477 | HPHEL | AEETHIX 2 BN 1300.0 [200.0[  400.0 1700. 0
478 | HABHAR | AdEETHX 2 L BEiR5 Y 1040.0  [200.0[  400.0 1440. 0
479 | HIPHER | AOEETHIX 1 K2k 6 650.0  [200.0]  200.0 850. 0
480 | FIPHEA | AEETHIX 3 ZE {5 1950.0  [200.0[  600.0 2550. 0




481 | FIPHEL | AiEfH X 2 JEIE 1300.0 [200.0[  400.0 1700. 0
482 | HFHSEL | AGHAHEIX 2 ZEC 1170.0 |200.0]  400.0 1570. 0
483 | HIPHAR | AdEETHX 1 5 520.0 |200.0]  200.0 720. 0
484 | HABHAR | AdEETHX 4 HjEsE 2080.0 1200.0]  800.0 2880. 0
485 | HBHAR | AiEETHIX 1 wAkE 650.0 [200.0] 200.0 850. 0
486 | HPHAR | AdEfTH X 1 JR Ik 8 390.0 |200.0]  200.0 590. 0
487 | HAPBHEL | AOEETHX 1 FESS 650.0 [200.0]  200.0 850. 0
488 | HIPHAR | AdEETH X 3 KA 1300.0 |200.0]  600.0 1900. 0
489 | HPHAR | AdEETHX 1 EEH) 390.0 [200.0]  200.0 590. 0
490 | HIBHAR | AdEETHIX 1 Ly 650.0 [200.0]  200.0 850. 0
491 | HPHEL | AEfH X 3 KT 1430.0 [200.0]  600.0 2030. 0
492 | HFE#B | AHEEIX 3 K= 5 1560.0 |200.0]  600.0 2160. 0
493 | HBHAR | AT X 2 U2 1040.0 |200.0]  400.0 1440. 0
494 | HAPBHAR | AdEETHX 1 RS 520.0 |200.0]  200.0 720. 0
495 | HABHAR | AdEETHIX 2 P 2 e 1300.0 |200.0]  400.0 1700. 0
496 | HPHAR | AdEETH X 2 ey ygLa 1040.0 [200.0]  400.0 1440. 0
497 | ARHEL | AOEEHIX 3 ¥ 1820.0 [200.0]  600.0 2420. 0
498 | HIPHAR | AdEETH X 1 Lk EE 650.0 [200.0] 200.0 850. 0
499 | HAPHAR | AdEETHX 1 KT 650.0 [200.0] 200.0 850. 0
500 | HPHEA | RIEA#EIX 1 L 520.0 |200.0]  200.0 720. 0
501 | HPHEA | AAEATHEIX 2 Fasg 1170.0 [200.0]  400.0 1570. 0
502 | FIFHEL | AOHEHEIX 2 TR 1040.0 |200.0]  400.0 1440. 0
503 | HIPHEA | AOAEAT#EIX 2 X R 1300.0 |200.0]  400.0 1700. 0
504 | HPHEE | RAEA#EIX 1 i 520.0 |200.0]  200.0 720. 0
505 | HPHEA | RAEA#EIX 3 HH AL 1170.0 |200.0]  600.0 1770. 0
506 | HPHEA | AAEATHEIX 1 KR 520.0 [200.0] 200.0 720. 0
507 | HFIFHEL | AHEHEIX 1 24 650.0 [200.0] 200.0 850. 0
508 | HIPH#A | ROAHATHEIX 1 o= 650.0 [200.0] 200.0 850. 0
509 | HPH#A | RIEAT#EIX 1 3 T 650.0 [200.0] 200.0 850. 0
510 | HPHEA | RIEA#EIX 1 = 520.0 |200.0]  200.0 720. 0
511 | HPHEA | AEATHEIX 2 K= 1300.0 [200.0]  400.0 1700. 0
512 | HPFH#E | AIEA#EIX 2 CSEiNEN 1170.0 [200.0]  400.0 1570. 0
513 | HPHEA | RIEA#EIX 1 XN P 520.0  |200.0]  200.0 720. 0
514 | HMH#E | AIEA#EIX 2 7K B 1040.0 |200.0]  400.0 1440. 0
515 | HPHEA | RIEA#EIX 1 JRAR & 520.0 |200.0]  200.0 720. 0
516 | HPHEA | AIHAT#EIX 1 FNiE 650.0 [200.0] 200.0 850. 0
517 | HFHEL | AEEHIX 1 HORAE 520.0 |200.0]  200.0 720. 0
518 | HIPH#A | AIHAT#EIX 1 PR S 390.0 |200.0]  200.0 590. 0
519 | HMH#A | AIEA#EIX 1 ZRE 390.0 |200.0]  200.0 590. 0
520 | HPHEA | RIEA#EIX 1 55 520.0 |200.0]  200.0 720. 0
521 | HPHEA | AHATHEIX 1 X T 520.0 [200.0] 200.0 720. 0
522 | HPFH#E | AIEA#EIX 2 (Y E 1040.0 [200.0]  400.0 1440. 0
523 | HPH#EA | RAHAT#EIX 1 EHFE 520.0 [200.0]  200.0 720. 0
524 | HPHEA | RIEA#EIX 1 F R 390.0 [200.0]  200.0 590. 0
525 | HPHEA | RIEA#EIX 2 ¥ /N2 1040.0 |200.0]  400.0 1440. 0
526 | HPHEA | AIHATHEIX 3 RN 1950.0 [200.0]  600.0 2550. 0
527 | HPFHE | AIEA#EIX 2 XA 1040.0 [200.0]  400.0 1440. 0
528 | HIPH#EA | AIHAT#EIX 3 TR 1560.0 |200.0]  600.0 2160. 0
529 | HPH#A | AIEA#EIX 2 BRE 1170.0 |200.0]  400.0 1570. 0
530 | HPHEA | RIEA#EIX 1 SESca 650.0 [200.0] 200.0 850. 0
531 | HPHEA | AIHAT#EIX 1 MEE 650.0 [200.0]  200.0 850. 0
532 | HPFHE | AIEA#EIX 2 XTI 780.0 [200.0]  400.0 1180. 0
533 | HPHEA | RIHAT#EIX 2 RET 1040.0 |200.0]  400.0 1440. 0
534 | HPH#A | AIEA#EIX 1 =t 390.0 |200.0]  200.0 590. 0




535 | HPHEA | AIEATHEIX 2 FAH 1300.0 [200.0]  400.0 1700. 0
536 | FIFHEL | AHEHEIX 2 FH 4 3t 1040.0 |200.0]  400.0 1440. 0
537 | HPH#EA | RIHAT#EIX 2 /b4 1170.0 |200.0]  400.0 1570. 0
538 | HPH#EA | AIHAT#EIX 1 MAEE 390.0 [200.0]  200.0 590. 0
539 | HPH#E | RIEA#EIX 1 X EE 520.0 |200.0]  200.0 720. 0
540 | HPHEA | AEAT#EIX 1 TEM 390.0 [200.0] 200.0 590. 0
541 | HFHEL | AEEHIX 3 ZEPRE 1560.0 |200.0]  600.0 2160. 0
542 | HPHEA | RAEA#EIX 1 XS 520.0 |200.0]  200.0 720. 0
543 | HPHEA | AIEA#EIX 4 A 4 o 2600.0 1200.0]  800.0 3400. 0
544 | HMH#E | RIEA#EIX 4 L RN 2080.0 200.0]  800.0 2880. 0
545 | HPHEA | AEHAT#EIX 1 X757 650.0 [200.0] 200.0 850. 0
546 | FFHEL | AHEHEIX 1 TKIE S 520.0 |200.0]  200.0 720. 0
547 | HPHEA | ROAEAT#EIX 2 JRIT) B 780.0 |200.0]  400.0 1180. 0
548 | HFH# | A X 1 AT R % 390.0 200.0]  200.0 590. 0
549 | HPH#E | RIEA#EIX 1 ELE 520.0 |200.0]  200.0 720. 0
550 | HPHEA | AAEATHEIX 1 F 4k F 650.0 [200.0]  200.0 850. 0
551 | HPFH%E | AIEAT#EIX 1 (] 520.0  [200.0] 200.0 720. 0
552 | EPH#EA | ROAEATHEIX 1 REH 520.0  |200.0]  200.0 720. 0
553 | HPH#EA | RAEAT#EIX 2 SRR 1300.0 |200.0]  400.0 1700. 0
554 | HPHEA | RIEA#EIX 2 L 1040.0 |200.0]  400.0 1440. 0
555 | HPHEA | AIHATHEIX 1 fE =i 650.0 [200.0]  200.0 850. 0
556 | FIFHEL | AOHEHEIX 2 B H 1170.0 |200.0]  400.0 1570. 0
557 | HIPH#EA | ROAEAT#EIX 1 HF5 g 650.0 [200.0] 200.0 850. 0
558 | HPH#EA | RIHATAEIX 2 i 2 5 780.0 |200.0]  400.0 1180. 0
559 | HPH#EA | RIEA#EIX 1 F& 650.0 [200.0] 200.0 850. 0
560 | HPHEE | AIEAT#EIX 1 K & 650.0 [200.0]  200.0 850. 0
561 | FIFHEL | AHEHEIX 1 % /N 390.0 |200.0]  200.0 590. 0
562 | HIPHEA | ROAEAT#EIX 3 Az g 1170.0 |200.0]  600.0 1770. 0
563 | HPHEE | AAEA#EIX 2 HEN 1040.0 |200.0]  400.0 1440. 0
564 | HPHEE | RIEA#EIX 1 B 520.0 |200.0]  200.0 720. 0
565 | HPHEA | AIHATHEIX 1 gL 390.0 [200.0] 200.0 590. 0
566 | HPFHEE | AIEA#EIX 1 REAH 650.0 [200.0]  200.0 850. 0
567 | HPHEA | RAHAT#EIX 2 RN 780.0 |200.0]  400.0 1180. 0
568 | HPHEA | AIHAT#EIX 3 K 1690.0 |200.0]  600.0 2290. 0
569 | HPHE | RIEA#EIX 1 b 520.0 |200.0]  200.0 720. 0
570 | HPHEA | AIHATFEIX 2 kH 1040.0 [200.0]  400.0 1440. 0
571 | HFHEL | AEE X 2 AR 1040.0 |200.0]  400.0 1440. 0
572 | HPHEA | RAHAT#EIX 2 KEF 1300.0 |200.0]  400.0 1700. 0
573 | HPHEA | AIEAT#EIX 1 B 520.0 |200.0]  200.0 720. 0
574 | HPHEA | RIEA#EIX 1 2= g 650.0 [200.0]  200.0 850. 0
575 | HPHEA | AIHATHEIX 2 T3 1300.0 [200.0]  400.0 1700. 0
576 | HFHEL | AHE#EIX 2 BT 910.0 [200.0]  400.0 1310. 0
577 | HPHEA | RAHAT#EIX 1 Fi 520.0 [200.0]  200.0 720. 0
578 | HPH#EA | AIHAT#EIX 2 WX 780.0 |200.0]  400.0 1180. 0
579 | HPH#EA | RIHA#EIX 2 X[ 4 780.0 [200.0]  400.0 1180. 0
580 | HPH#A | AIHAT#EIX 2 G 1040.0 [200.0]  400.0 1440. 0
581 | HFHEL | AHE X 1 TS B 520.0 |200.0]  200.0 720. 0
582 | HIPH#A | AIHAT#EIX 1 HmET 520.0  |200.0]  200.0 720. 0
583 | HPH#A | AIHAT#EIX 1 AR/ 390.0 |200.0]  200.0 590. 0
584 | HPH#A | AIHA#EIX 1 E 7 H 650.0 [200.0] 200.0 850. 0
585 | HPH#A | AIHAT#EIX 2 Rl 1170.0 [200.0]  400.0 1570. 0
586 | HPFH%E | AIHAT#EIX 3 KX 1430.0 [200.0]  600.0 2030. 0
587 | HIPH#A | AIHAT#EIX 1 2 520.0 |200.0]  200.0 720. 0
588 | HPH#A | AIHAT#EIX 2 TI5i 1040.0 |200.0]  400.0 1440. 0




589 [ HIPH#EA | AGEETHIX 2 JRARPK 1040.0 [200.0[  400.0 1440. 0
590 | HPH#EA | AIEAT#EIX 2 ik ik 780.0  [200.0]  400.0 1180. 0
591 | HIPHEE | ACEBTHEIX 2 [l 1170.0 [200.0[  400.0 1570. 0
592 | HIPHEA | AOEETHIX 3 IR EE 1560.0 [200.0[  600.0 2160.0
593 | HIPHEA | AOEBTHIX 1 K 650.0  [200.0]  200.0 850. 0
594 | HIPHEE | AOEETHIX 3 % 1E 1560.0 [200.0[  600.0 2160. 0
595 | HPH#EE | AIEAT#EIX 4 KA AR 2080.0 1200.0[  800.0 2880. 0
596 [ FIPHEA | AGEBTHIX 3 i B 1170.0 [200.0[  600.0 1770. 0
597 | HIPHEA | AOEEBTHIX 2 fr g 1040.0  [200.0[  400.0 1440. 0
598 | HIPHEA | AOEBTHIX 2 PR 1170.0 [200.0[  400.0 1570. 0
599 [ HIPHEE | AGEEIHIX 2 EFEE 1170.0 [200.0[  400.0 1570. 0
600 | HIPHER | AdEETHIX 1 555 650.0  [200.0]  200.0 850. 0
601 | FIPHER | AEETHEIX 2 V=R 1040.0  [200.0[  400.0 1440. 0
602 | FIPHER | AEETHIX 1 A 520.0  [200.0] 200.0 720.0
603 | FIPHER | AEETHIX 2 WG 7548 910.0  [200.0]  400.0 1310. 0
604 | FIPHER | AEETHIX 2 XU AR 1300.0 [200.0[  400.0 1700. 0
605 | FIBHEL | AiEfHIX 1 HIBE 520.0  1200.0[  200.0 720.0
606 | FIPHEA | AEETHEIX 3 (/8 1560.0 [200.0[  600.0 2160. 0
607 | FIPHER | AEETHIX 1 i Z M 520.0  [200.0] 200.0 720.0
608 | FIPHEA | AIEETHIX 3 B 1950.0  [200.0[  600.0 2550. 0
609 | FPHAL | A X 2 LA 1040.0 |200.0[  400.0 1440. 0
610 | HIPHER | AR X 2 XU AE 1300.0 [200.0[  400.0 1700. 0
611 | FIPHEA | AEETHIX 3 5 H% 1300.0 [200.0[  600.0 1900. 0
612 | FIPHEA | AEETHIX 1 (A 520.0  [200.0]  200.0 720.0
613 | FIPHER | AEETHIX 2 XX 1040.0  [200.0[  400.0 1440. 0
614 | HIPHEL | AEEIHIX 1 T2 520.0  1200.0[  200.0 720.0
615 | FIBHEL | AiEfHIX 3 EEF 1690.0 [200.0[  600.0 2290. 0
616 | FIPHEA | AEETHIX 2 JE 25 1040.0  [200.0[  400.0 1440. 0
617 | HIPHEL | AEETHIX 1 AR 390.0  [200.0] 200.0 590. 0
618 | FIPHEA | AIEEIHIX 3 iR 1560.0 [200.0[  600.0 2160.0
619 | FIPHER | AEETHIX 1 RIEF 650.0  ]200.0]  200.0 850. 0
620 | HIPHER | AdEETHIX 1 JEYERR 650.0  [200.0]  200.0 850. 0
621 | FIPHEA | AEETHIX 2 gk Tt 1040.0  [200.0[  400.0 1440. 0
622 | FIPHEA | AEETHIX 1 Tk 650.0  [200.0]  200.0 850. 0
623 | FIPHEE | AEETHIX 3 K it 1170.0 [200.0[  600.0 1770. 0
624 | FIPHEL | AEETHIX 1 ISNES 650.0  [200.0]  200.0 850. 0
625 | HPBHAR | AdEETH X 1 (L 650.0  [200.0]  200.0 850. 0
626 | FIPHEA | AEETHIX 1 Ik % 650.0  [200.0]  200.0 850. 0
627 | FIPHER | AEETHIX 1 AL 650.0  [200.0]  200.0 850. 0
628 | FIPHEA | AIEETHIX 2 ER=0)4 1040.0  [200.0[  400.0 1440. 0
629 | FIPHEA | AEETHIX 1 IFEIE 520.0  1200.0[  200.0 720.0
630 | FIBHEL | AiEfHIX 2 T % 1170.0 [200.0[  400.0 1570. 0
631 | FIPHER | AEETHEIX 1 SIS 650.0  [200.0]  200.0 850. 0
632 | FIPHEA | AEETHIX 1 BAEFE 520.0  [200.0] 200.0 720. 0
633 | FIPHEA | AEETHIX 2 AL 1040.0  [200.0[  400.0 1440. 0
634 | FIPHEA | AEETHIX 1 XS 520.0  1200.0[  200.0 720. 0
635 | FIBHEL | AiEfHIX 2 AR Ak 1170.0 [200.0[  400.0 1570. 0
636 | FIPHEA | AEETHIX 1 (&5 520.0  [200.0] 200.0 720.0
637 | FIPHEA | AEETHIX 1 HH 5 650.0  [200.0]  200.0 850. 0
638 | FIPHEA | AEETHIX 1 W EE 520.0  [200.0] 200.0 720. 0
639 | FIPHER | AEETHIX 1 11984 520.0  1200.0[  200.0 720. 0
640 | HPBHAR | AdEETH X 2 5K 5 1300.0 [200.0[  400.0 1700. 0
641 | FIPHEE | AEETHIX 1 1B H & 520.0  [200.0] 200.0 720.0
642 | FIPHER | AEETHIX 3 5% 1560.0 [200.0[  600.0 2160.0




643 | FIPHEL | AEETHIX 2 i 1040.0 [200.0[  400.0 1440. 0
644 | HAPBHER | AdEETHIX 1 CE2ia 390.0  [200.0] 200.0 590. 0
645 | FIPHE | AEETHEIX 2 iR e 1040.0  [200.0[  400.0 1440. 0
646 | FIPHEL | AEETHIX 1 oy 650.0  [200.0]  200.0 850. 0
647 | HIPHEL | AEETHIX 3 K E 1820.0 [200.0[  600.0 2420. 0
648 | FPHAL | A HIX 2 R 1170.0 |200.0[  400.0 1570. 0
649 | HPBHAR | AdEETH X 3 mES 1950.0  [200.0[  600.0 2550. 0
650 | FIPHER | AEETHIX 3 HAEAR 1690.0 [200.0[  600.0 2290. 0
651 | FIPHEA | AEETHIX 1 HBF5 2 520.0  [200.0] 200.0 720. 0
652 | FIPHEA | AEETHIX 1 AR E 520.0  [200.0] 200.0 720. 0
653 | FIPHEA | AEETHIX 1 [T 520.0  1200.0[  200.0 720. 0
654 | HPBHAR | AdEETHIX 4 i T AR 1950.0  [200.0[  800.0 2750. 0
655 | FIPHEA | AEETHEIX 1 Al 650.0  [200.0]  200.0 850. 0
656 | FIPHEA | AEETHIX 1 JE ZE R 520.0  [200.0] 200.0 720. 0
657 | FIPHER | AEETHIX 2 KK FH 7k £ 1170.0 [200.0[  400.0 1570. 0
658 | FIPHEA | AEETHIX 1 2R AR 520.0  1200.0[  200.0 720. 0
659 | HPHER | AdEETH X 1 K5 650.0  [200.0]  200.0 850. 0
660 | FIPHEA | AEETHIX 2 A 1040.0  [200.0[  400.0 1440. 0
661 | FIPHEA | AEETHIX 2 T 1170.0  [200.0[  400.0 1570. 0
662 | FIPHEA | AEETHIX 1 R 520.0  [200.0] 200.0 720. 0
663 | FIPHEA | AEETHIX 4 BBRE 2080.0 [200.0]  800.0 2880. 0
664 | HPBHAR | AdEETHIX 1 KEM 650.0  [200.0]  200.0 850. 0
665 | FIPHEA | AEETHEIX 2 % 780.0  [200.0]  400.0 1180. 0
666 | FIPHEA | AEETHIX 2 Lo 1040.0  [200.0[  400.0 1440. 0
667 | FIPHEA | AEETHIX 4 JEEHNI 2600.0 ]200.0[  800.0 3400. 0
668 | FIPHEA | AEETHIX 1 JERELL 650.0  [200.0]  200.0 850. 0
669 | HPHAR | AdEETH X 3 LR 1690.0 [200.0[  600.0 2290. 0
670 | FIPHER | AEETHEIX 2 = 1300.0 [200.0[  400.0 1700. 0
671 | HIPHEA | AEETHIX 2 TR AR 780.0  [200.0]  400.0 1180. 0
672 | FIPHEL | AIEETHIX 2 HHfsEES 1040.0  [200.0[  400.0 1440. 0
673 | HIPHER | AEETHIX 1 Yz 520.0  1200.0[  200.0 720.0
674 | HABHAR | AdEETHIX 1 i 520.0  [200.0] 200.0 720. 0
675 | FIPHEA | AEETHEIX 2 mit4 1040.0  [200.0[  400.0 1440. 0
676 | FIPHEA | AEETHIX 2 KEE 1300.0 [200.0[  400.0 1700. 0
677 | HIPHER | AEETHIX 2 IR 1040.0  [200.0[  400.0 1440. 0
678 | FIPHEA | AEETHIX 2 RAF A 910.0  ]200.0]  400.0 1310. 0
679 | HIBHEL | AiEfIHIX 1 AEIRAE 520.0  1200.0[  200.0 720.0
680 | FIPHEA | AEETHIX 1 XI5 ¥, 390.0  [200.0] 200.0 590. 0
681 | FIPHEA | AEEIHIX 2 BEH 1040.0  [200.0[  400.0 1440. 0
682 | FIPHEA | AIEEIHIX 2 Fhie s 1170.0 [200.0[  400.0 1570. 0
683 | FIPHEA | AEEIHIX 1 VL 650.0  [200.0]  200.0 850. 0
684 | HPHAR | AdEETHIX 1 KRGS 390.0  [200.0] 200.0 590. 0
685 | FIPHEA | AEETHIX 3 Ly /N 1170.0  [200.0[  600.0 1770. 0
686 | FIPHEA | AEEIHIX 2 EIEAR 1040.0  [200.0[  400.0 1440. 0
687 | FIPHEA | AIEEIHIX 1 TEF 650.0  [200.0]  200.0 850. 0
688 | FIPHEA | AiEETHIX 1 Trit % 650.0  ]200.0]  200.0 850. 0
689 | FIBHEL | AiEfHIX 3 [BEEEAN 1560.0 [200.0[  600.0 2160.0
690 | FIPHER | AEETHIX 2 b [\ [r1) 1040.0  [200.0[  400.0 1440. 0
691 | FIPHEA | AEETHIX 3 Al 1560.0 [200.0[  600.0 2160. 0
692 | FIPHEA | AEETHIX 2 LG 1040.0  [200.0[  400.0 1440. 0
693 | FIPHER | AEEHIX 1 RS 520.0  1200.0[  200.0 720. 0
694 | HPBHER | AdEETHIX 1 Xl = 650.0  [200.0]  200.0 850. 0
695 | FIPHER | AEETHIX 2 JEA 780.0  [200.0]  400.0 1180. 0
696 | FIPHEA | AEETHIX 1 L EEE 520.0  [200.0]  200.0 720.0




697 | HIPHEA | AEEHIX 2 Tk A= 1040.0 [200.0[  400.0 1440. 0
698 | FIBHEL | AiEfHIX 3 TR 1560.0 [200.0[  600.0 2160.0
699 | FIPHEA | AEEIHIX 2 AT 780.0  [200.0]  400.0 1180. 0
700 | HIPHEE | AGEETHIX 2 Wi A5 1040.0  [200.0[  400.0 1440. 0
701 | HPHEE | AOEBTHIX 1 LRk 390.0  [200.0]  200.0 590. 0
702 | HIPHEE | AGEBTHIX 1 RS 520.0  1200.0[  200.0 720.0
703 | HAPHEE | AAEAHEIX 1 R 520.0  [200.0]  200.0 720. 0
704 | HIPHEE | AOEBTHEIX 3 B Ak 1300.0 [200.0[  600.0 1900. 0
705 | HIPHEE | AGEBTHIX 2 s 780.0  [200.0]  400.0 1180. 0
706 | HIPHEE | AOEBTHIX 2 ZENER 780.0  [200.0]  400.0 1180. 0
707 | HPHEE | AGEBTHIX 4 C4ava 2470.0 [200.0]  800.0 3270.0
708 | HPHEE | AAEATAEIX 2 M5 780.0  [200.0]  400.0 1180. 0
709 | HIPHEE | AGEETHIX 2 XE % 910.0  [200.0]  400.0 1310. 0
710 | HPHEE | AOEBTHIX 1 JR/NE 650.0  [200.0]  200.0 850. 0
711 | HPHEE | AOGEBTHIX 1 JE S 650.0  [200.0]  200.0 850. 0
712 | HPHEE | AOEBTHIX 1 TR 650.0  [200.0]  200.0 850. 0
713 | APHEL | AEfTHIX 1 Y 1 B 520.0  1200.0[  200.0 720.0
714 | HPHEE | AOEBTHEIX 1 % 520.0  [200.0] 200.0 720.0
715 | HPHEE | AOEBTHIX 3 & 1170.0 [200.0[  600.0 1770. 0
716 | HPHEE | AOEBTHIX 1 LES 520.0  [200.0] 200.0 720. 0
717 | HPHEE | AOEETHIX 2 AL T FE 1040.0 [200.0[  400.0 1440. 0
718 | HPHEE | AEA#EIX 1 1 1H & 520.0  [200.0] 200.0 720.0
719 | HPHEE | AOEETHIX 3 SE# 1560.0 [200.0[  600.0 2160. 0
720 | HPHEE | AOEBTHIX 2 X ER A 1170.0  [200.0[  400.0 1570. 0
721 | HPHEE | AOEBTHIX 2 &L 1040.0  [200.0[  400.0 1440. 0
722 | HPHEE | AOEBTHIX 3 M 1170.0 [200.0[  600.0 1770. 0
723 | HAMHEE | AEEHEIX 1 s 520.0  [200.0] 200.0 720.0
724 | HPHEE | AOEBTHIX 1 gk 7 Ik 520.0  [200.0] 200.0 720. 0
725 | HPHEE | AOEBTHIX 2 X PR 1170.0 [200.0[  400.0 1570. 0
726 | HPHEE | AOEBTHIX 3 LI 1560.0 [200.0[  600.0 2160. 0
727 | HPHEE | AOEETHIX 2 Akl 1170.0 [200.0[  400.0 1570. 0
728 | HAPHEE | AEAHEIX 3 Lo 1170.0  [200.0[  600.0 1770. 0
729 | HIPHEE | AOHEETHIX 1 Fifi 17t 650.0  [200.0]  200.0 850. 0
730 | HPHEE | AOEETHIX 1 EEFH 650.0  [200.0]  200.0 850. 0
731 | HPHEE | AOEBTHIX 2 TRAE T 1040.0  [200.0[  400.0 1440. 0
732 | HPHEE | AOEETHIX 2 EME 910.0  ]200.0]  400.0 1310. 0
733 | APHEL | AEfHIX 2 TR 910.0  ]200.0]  400.0 1310. 0
734 | HPHEE | AOEETHIX 2 {EL /NI 780.0  [200.0]  400.0 1180. 0
735 | HPHEE | AOEBTHIX 1 oY= 650.0  [200.0]  200.0 850. 0
736 | HPHEE | AOEBTHIX 4 W i 1560.0 [200.0[  800.0 2360. 0
737 | HPHEE | AOEBTHIX 1 K &g 520.0  1200.0[  200.0 720.0
738 | APHEL | AEfTHIX 2 i A 1040.0 [200.0[  400.0 1440. 0
739 | HPHEE | AOEETHIX 2 £ 780.0  [200.0]  400.0 1180. 0
740 | HPHEE | AOEBTHIX 3 FE5 1950.0  [200.0[  600.0 2550. 0
741 | HPHEE | AOEBTHIX 2 1 355 1170.0 [200.0[  400.0 1570. 0
742 | HPHEE | AOEBTHIX 4 1 3k 1820.0 [200.0[  800.0 2620. 0
743 | APBHEL | AEfTHIX 3 750 1560.0 [200.0[  600.0 2160.0
744 | HPHEE | AOEBTHIX 2 EET 780.0  [200.0]  400.0 1180. 0
745 | HPHEE | AOEBTHIX 2 MR 780.0  [200.0]  400.0 1180. 0
746 | HPHEE | AOEBTHIX 1 AR 390.0  [200.0]  200.0 590. 0
747 | HPHEE | AOEETHIX 1 HE 520.0  1200.0[  200.0 720. 0
748 | HPHEA | AEAHEIX 1 IRt 650.0  [200.0]  200.0 850. 0
749 | HPHEE | AOEBTHIX 1 gk iE 520.0  [200.0] 200.0 720.0
750 [ HIPHEE | AGEBTHIX 1 [k 650.0  [200.0]  200.0 850. 0




751 | HAPHEE | AEATHEX 1 7K X 650.0 [200.0] 200.0 850. 0
752 | FFHE | AEEIX 1 A8 45 L 390.0 [200.0]  200.0 590. 0
753 | HIPHEE | AOEBTHIX 2 R 1040.0 [200.0[  400.0 1440. 0
754 | HAMHEE | RAEAHEIX 1 NG 520.0 |200.0]  200.0 720. 0
755 | HPHEE | RIEA#EIX 2 XS 1300.0 |200.0]  400.0 1700. 0
756 | HAPHEE | AAEATHEIX 1 128/ %ix 520.0  [200.0] 200.0 720. 0
757 | AFH#E | AIEA#IX 2 X7 5 1040.0 [200.0]  400.0 1440. 0
758 | HPHEA | ROAHAT#EIX 3 J& WV Fiit 1170.0 |200.0]  600.0 1770. 0
759 | HMHEE | REAHEIX 2 22 1300.0 |200.0]  400.0 1700. 0
760 | HPHEE | RIEA#EIX 2 5K I 910.0 [200.0]  400.0 1310. 0
761 | HAPHEE | AEAFEX 1 XIS AH 390.0 [200.0] 200.0 590. 0
762 | FFHEL | AHEEIX 1 MR o> 520.0 |200.0]  200.0 720. 0
763 | HPHEA | ROAEA#EIX 2 [ 1040.0 |200.0]  400.0 1440. 0
764 | HAPHEE | REAHEIX 2 T 1040.0 |200.0]  400.0 1440. 0
765 | HAPHEE | RAEA#EIX 1 HEE 650.0 [200.0] 200.0 850. 0
766 | HAAPHEE | AAEATFEIX 2 PE 1040.0 [200.0]  400.0 1440. 0
767 | EFHEL | AHEIX 3 RE 5 1170.0 |200.0]  600.0 1770. 0
768 | HPHEA | ROAHATHEIX 1 LT 520.0  |200.0]  200.0 720. 0
769 | HPHEE | REA#EIX 1 EK T 650.0 [200.0] 200.0 850. 0
770 | HAAPHEE | RAEEHEIX 5 1 FE 2340.0 1200.0] 1000.0 3340. 0
771 | AMHEE | KEEREX 2 XSt 910.0 [200.0]  400.0 1310. 0
772 | AFHEE | AIEEEIX 2 AR 1040.0 [200.0]  400.0 1440. 0
773 | HAPHEE | ROAEATHEIX 2 X e £ 780.0 |200.0]  400.0 1180. 0
774 | AMHEE | REEHEX 4 ZRE 1690.0 |200.0]  800.0 2490. 0
775 | HAMHEE | RAEAHEIX 1 g 520.0 |200.0]  200.0 720. 0
776 | HAPHEE | AEAFEX 1 & 390.0 |200.0]  200.0 590. 0
777 | EAFHE | AEERX 1 5 i 390.0 |200.0]  200.0 590. 0
778 | HMHEA | RAHATHEIX 2 X 1040.0 |200.0]  400.0 1440. 0
779 | HAMHEE | REAREIX 3 FEE 1300.0 |200.0]  600.0 1900. 0
780 | HPHEA | RIHATHEIX 1 i /NE 650.0 [200.0] 200.0 850. 0
781 | HPHEA | AIHATHEIX 1 PN 390.0 [200.0] 200.0 590. 0
782 | HFHEL | AHEHEIX 3 K7 1950.0 |200.0]  600.0 2550. 0
783 | HPHEA | RIHATHEIX 2 FE 1040.0 |200.0]  400.0 1440. 0
784 | HPHEA | AHATHEIX 2 G5 T 1040.0 |200.0]  400.0 1440. 0
785 | HPHEA | RAHAT#EIX 2 L A 1040.0 |200.0]  400.0 1440. 0
786 | HPHEA | AIHATHEIX 3 Sy 1560.0 [200.0]  600.0 2160. 0
787 | HFHEL | AHAEIX 1 AR fE AR 650.0 [200.0] 200.0 850. 0
788 | HPHEA | RAHATHEIX 3 ¥, 1300.0 |200.0]  600.0 1900. 0
789 | HMH#A | AIHATHEIX 3 XIEE TS 1560.0 |200.0]  600.0 2160. 0
790 | HPHEE | RIEA#EIX 1 e 390.0 [200.0]  200.0 590. 0
791 | HAPHEE | AEAFEIX 2 P tvii 1170.0 [200.0]  400.0 1570. 0
792 | HFHEE | AEEHIX 1 W 650.0 [200.0] 200.0 850. 0
793 | HPHEA | RAEA#EIX 1 M 520.0 [200.0]  200.0 720. 0
794 | HAMHEE | REA#EX 2 MR 1300.0 |200.0]  400.0 1700. 0
795 | HAPHEE | RIEE#EIX 2 )2 1170.0 [200.0]  400.0 1570. 0
796 | HAPHEE | AEATHEIX 1 BiE 390.0 [200.0] 200.0 590. 0
797 | HFHEE | AHEIX 2 1541 1170.0 |200.0]  400.0 1570. 0
798 | HPHEA | RAHAT#EIX 1 i E 650.0 [200.0] 200.0 850. 0
799 | HMH#E | AEA#EIX 1 e 520.0 |200.0]  200.0 720. 0
800 | HIPHAR | AiHETHIX 2 FRE 780.0 |200.0]  400.0 1180. 0
801 | HIPHAR | A X 2 FHE 910.0 [200.0]  400.0 1310. 0
802 [ HPFHEL | AGHA#EIX 2 XER 1170.0 |200.0]  400.0 1570. 0
803 | FIPHAR | AT X 1 - 55 650.0 [200.0] 200.0 850. 0
804 | HIPHAR | AdEfTHIX 2 MR 1300.0 |200.0]  400.0 1700. 0




805 | FIPHEA | AiEEIHIX 1 PHUK 5 390.0  [200.0] 200.0 590. 0
806 | HIPHAR | AdE#THIX 2 LK b 1040.0  [200.0[  400.0 1440. 0
807 | FIPHEA | AEEIHIX 2 oy 780.0  [200.0]  400.0 1180. 0
808 | FIPHEA | AiEEIHIX 2 LA 1040.0  [200.0[  400.0 1440. 0
809 | FIPHEA | AIEEIHIX 4 4 2080.0 |200.0[  800.0 2880. 0
810 | FIPHEA | AiEEIHIX 1 XI5 650.0  [200.0]  200.0 850. 0
811 | FIPHEL | AiEfiHIX 3 oA 1560.0 [200.0[  600.0 2160.0
812 | FIPHEA | i ErttIX 3 L et 1560.0 [200.0[  600.0 2160.0
813 | FIPHEA | #nimlrdtIX 1 gk == 520.0  [200.0] 200.0 720. 0
814 | HIPHEA | aiinlErttIX 2 KR K 780.0  [200.0]  400.0 1180. 0
815 | FIPHEA |z EttIX 2 R 1040.0 [200.0[  400.0 1440. 0
816 | FIPHEA | znimrttIX 1 = 2R 390.0  [200.0] 200.0 590. 0
817 | FIPHEA | zninErdtIX 2 52 1170.0 [200.0[  400.0 1570. 0
818 | FIPHEA | #ninlrttIX 2 KT 1040.0  [200.0[  400.0 1440. 0
819 | HIPHEA | #iimrttIX 2 i ) 1040.0  [200.0[  400.0 1440. 0
820 | FIPHEA | zninfEdtIX 2 pGieia 1170.0 [200.0[  400.0 1570. 0
821 | FIPHEA | znimfErttIX 3 L 1820.0 [200.0[  600.0 2420. 0
822 | FIPHEA | #ninlfErdtIX 3 L E 1560.0 [200.0[  600.0 2160. 0
823 | FIPHEA | ninlrttIX 1 Tl 520.0  |200.0]  200.0 720. 0
824 | FIPHEA | aninrdtIX 2 L) g 1040.0 |200.0]  400.0 1440. 0
825 | FIPHEA | zninfEttIX 1 D= 520.0  1200.0[  200.0 720.0
826 | FIPHEA | zninrttIX 3 BIEEL 1820.0 [200.0[  600.0 2420. 0
827 | FIPHEA | zninfErttIX 2 = A 1040.0  [200.0[  400.0 1440. 0
828 | FIPHEA | #ninlfttIX 2 BRT5E 1040.0  [200.0[  400.0 1440. 0
829 | FIPHEA | #nimrttIX 4 =B 2080.0 |200.0[  800.0 2880. 0
830 | FIPHEA | zninfEttIX 2 A 1040.0 [200.0[  400.0 1440. 0
831 | FIPHEA | zninfErdtIX 1 Tl = 390.0  [200.0] 200.0 590. 0
832 | FIPHEA | zninlfErttIX 1 AT 520.0  [200.0] 200.0 720. 0
833 | FIPHEA | #nimlfttIX 2 S 1300.0 |200.0]  400.0 1700. 0
834 | FIPHEA | aiinrdtIX 4 BT 1950.0  [200.0[  800.0 2750. 0
835 | FIPHEA | zninfEdtIX 2 gk 2 1040.0 [200.0[  400.0 1440. 0
836 | FIPHEA | #nimfEritIX 2 N 780.0  [200.0]  400.0 1180. 0
837 | FIPHEA | zninfErttIX 1 R 390.0  [200.0] 200.0 590. 0
838 | FIPHEA | #nimlfErttIX 1 PRt = 520.0  [200.0] 200.0 720. 0
839 | FIPHEA | #iimrttIX 1 =4 520.0  |200.0]  200.0 720. 0
840 | FIPHEA | #niin kX 3 KL 1560.0 [200.0[  600.0 2160. 0
841 | FIPHEA | zninErdtIX 3 TR 1560.0 [200.0[  600.0 2160.0
842 | FIPHEA | i rdtIX 4 ZE N B 2080.0 |200.0/  800.0 2880. 0
843 | HIPHEA | aninlrdhIX 2 i ~F-34 1040.0 |200.0]  400.0 1440. 0
844 | HIPHEA | aiinErdtIX 2 kA= 780.0  |200.0]  400.0 1180. 0
845 | HIPHEA | znin kX 2 et 1040.0 [200.0[  400.0 1440. 0
846 | FIPHEA | #ninrdtIX 2 L i ] 1040.0  [200.0[  400.0 1440. 0
847 | FIPHEA | i rttIX 2 L A 1040.0 [200.0[  400.0 1440. 0
848 | FIPHEA | #ninlttIX 1 75 A 390.0  [200.0] 200.0 590. 0
849 | HIPHEA | aiinErttIX 2 A 780.0  [200.0]  400.0 1180. 0
850 | FIPHEA | zninfEdtIX 1 (ARl 390.0  |200.0[  200.0 590. 0
851 | FIPHEA | znimfErdtIX 4 R 2340.0 ]200.0[  800.0 3140.0
852 | FIPHEA | zninlfErttIX 1 EDE 520.0  [200.0] 200.0 720.0
853 | FIPHEA | #ninlttIX 2 KNS 1040.0  [200.0[  400.0 1440. 0
854 | FIPHEA | #ninrdtIX 2 JE 1040.0  [200.0[  400.0 1440. 0
855 | FIPHEA | zninlfEdtIX 1 i AL 520.0  1200.0[  200.0 720. 0
856 | FIPHEA | #nimlEritIX 3 2L 1690.0 [200.0[  600.0 2290. 0
857 | FIPHEA | zninfErdtIX 1 B 650.0  ]200.0]  200.0 850.0
858 | FIPHEA | #nimlfttIX 2 Hife 1040.0  [200.0[  400.0 1440. 0




859 | FIPHEA | zninfEttIX 2 KIREE 1040.0 [200.0[  400.0 1440. 0
860 | FIPHEA | zninlEritIX 4 ficf /D> ¥ 2080.0 1200.0[  800.0 2880. 0
861 | FIPHEA | zninlfErdtIX 1 ARG 520.0  [200.0] 200.0 720. 0
862 | FIPHEA | zninlErttIX 2 L e 1040.0 |200.0]  400.0 1440. 0
863 | FIPHEA | #nimrttIX 2 K & 1040.0  [200.0[  400.0 1440. 0
864 | FIPHEA | zninEitIX 1 i 520.0  [200.0] 200.0 720.0
865 | FIPHEA | zninlfErdtIX 2 P! 1040.0  [200.0[  400.0 1440. 0
866 | FIPHEA | zninlfEritIX 2 B 1040.0  [200.0[  400.0 1440. 0
867 | FIPHEA | #ninlrttIX 2 Z= B B 1040.0 |200.0]  400.0 1440. 0
868 | FIPHEA | #nimlrttIX 2 L 4 S 1040.0  [200.0[  400.0 1440. 0
869 | FIPHEA | zninfEritIX 4 MR 2080.0 [200.0]  800.0 2880. 0
870 | FIPHEA | zninfErttIX 1 118 ik 520.0  [200.0] 200.0 720. 0
871 | FIPHEA | el fErdtIX 2 X015 1040.0  [200.0[  400.0 1440. 0
872 | HIPHEA | #ninlttIX 1 =4 8 390.0  [200.0] 200.0 590. 0
873 | HIPHEA | aiinrttIX 2 LS 910.0  [200.0]  400.0 1310. 0
874 | HIPHEA | i fEitIX 2 M2 1040.0 [200.0[  400.0 1440. 0
875 | FIPHEA | #ninErdtIX 2 ALY 1300.0 [200.0[  400.0 1700. 0
876 | FIPHEA | zninfErttIX 2 XI5 780.0  |200.0[  400.0 1180. 0
877 | HIPHEA | #ninrttIX 2 i 1040.0  [200.0[  400.0 1440. 0
878 | FIPHEA | #niimrttIX 2 AR 1040.0 |200.0]  400.0 1440. 0
879 | HIPHEA | i EitIX 3 RN 1560.0 [200.0[  600.0 2160. 0
880 | FIPHEA | #nimfEritIX 2 F=iT 1040.0  [200.0[  400.0 1440. 0
881 | FIPHEA | znimlfErdtIX 1 ERsRi] 520.0  [200.0] 200.0 720.0
882 | FIPHEA | #nimlfErttIX 2 250 1040.0  [200.0[  400.0 1440. 0
883 | FIPHEA | #nimritIX 2 =R A& 1040.0 [200.0[  400.0 1440. 0
884 | FIPHEA | zninEttIX 2 =] 780.0  |200.0[  400.0 1180. 0
885 | FIPHEA | #nimfErttIX 2 s il 780.0  [200.0]  400.0 1180. 0
886 | FIPHEA | zninlfEritIX 2 =Xy 1170.0 |200.0]  400.0 1570.0
887 | FIPHEA | #ninlrttIX 1 2 520.0  [200.0] 200.0 720. 0
888 | FIPHEA | #niimrttIX 2 M 1300.0 [200.0[  400.0 1700. 0
889 | FIPHEA | zninlfEitIX 3 BE 75 1560.0 [200.0[  600.0 2160.0
890 | FIPHEA | ziimErttIX 3 o RakEN 1690.0 [200.0[  600.0 2290. 0
891 | FIPHEA | znimlfErdtIX 1 XI55 4 650.0  [200.0]  200.0 850. 0
892 | FIPHEA | #nimlfttIX 2 TR G f 1040.0 |200.0]  400.0 1440. 0
893 | FIPHEA | #niimrttIX 2 AL 1040.0 |200.0]  400.0 1440. 0
894 | FIPHEA | #ninfEdtIX 3 OE%E 1560.0 [200.0[  600.0 2160. 0
895 | FIPHEA | #wiimfErttIX 2 185 1040.0  [200.0[  400.0 1440. 0
896 | FIPHEA | zninlfEritIX 1 RIE&E 520.0  1200.0[  200.0 720.0
897 | HIPHEA | #nimlEttIX 2 agine=t 1170.0 |200.0]  400.0 1570. 0
898 | FIPHEA | #niimlrttIX 3 L 1560.0 [200.0[  600.0 2160. 0
899 | HIPHEA | zninfEitIX 1 B 390.0  |200.0[  200.0 590. 0
900 | FIPHER | i ErdtIX 6 ESA 3120.0 1200.0| 1200.0 4320. 0
901 | FIPHEA | il fErdtIX 1 gk X 390.0  |200.0[  200.0 590. 0
902 | FIPHEA | @il ErdtX 3 gk e 1430.0 [200.0[  600.0 2030. 0
903 | FIPHEA | @i EritIX 2 HETH 1040.0 [200.0[  400.0 1440. 0
904 | FIPHEA | i ErdtX 1 T 224 390.0  |200.0[  200.0 590. 0
905 | FIPHER | i ErdtX 1 Laie ) 390.0  [200.0] 200.0 590. 0
906 | FIPHEA | il ErdtIX 2 I 1040.0 [200.0[  400.0 1440. 0
907 | FIPHEA | @il ErdtX 2 T It 1040.0  [200.0[  400.0 1440. 0
908 | FIPHEA | #ninrdtIX 2 S S 1170.0 [200.0[  400.0 1570. 0
909 | FIPHEA | i EitIX 1 HE 650.0  [200.0]  200.0 850. 0
910 | FIPHEA | i ErdtIX 2 oRES 1040.0  [200.0[  400.0 1440. 0
911 | FIPHEA | i ErdtIX 1 A 650.0  ]200.0]  200.0 850.0
912 | HIPHER | @itk IX 1 R 7 3k 520.0  [200.0]  200.0 720. 0




913 | HPHAR | ani[ftk X 2 JREE 910.0 [200.0]  400.0 1310. 0
914 | HPHAR | ik X 2 e 1040.0 |200.0]  400.0 1440. 0
915 | FIPHAR | gtk X 3 RIEERH 1300.0 |200.0]  600.0 1900. 0
916 | HIPHAR | gl X 3 I S 1690.0 |200.0]  600.0 2290. 0
917 | HBHAR | ganil kX 1 Mg 520.0 |200.0[ 200.0 720. 0
918 | HPHAR | gl X 2 RIE% 780.0 [200.0]  400.0 1180. 0
919 | HPHAR | itk X 1 B 520.0 |200.0]  200.0 720. 0
920 | FIPHAR | anil gtk X 1 [ 520.0 |200.0]  200.0 720. 0
921 | HIBHAR | itk X 1 wnEF 390.0 |200.0[ 200.0 590. 0
922 | HPFHEE | a0t IX 1 ¥ 33 650.0 [200.0] 200.0 850. 0
923 | HAPHAR | itk X 1 ZER 390.0 |200.0]  200.0 590. 0
924 | HPHAR | ik X 2 AEX L5 1170.0 |200.0]  400.0 1570. 0
925 | FIBHAR | anil gtk X 4 SHE 2600.0 1200.0/  800.0 3400. 0
926 | EIBHAR | anil gtk X 1 XMR 75 520.0 |200.0]  200.0 720. 0
927 | HBHAR | anil kX 1 paREAR 520.0 |200.0[ 200.0 720. 0
928 | HAPHAR | aninl gtk X 2 M 1040.0 [200.0]  400.0 1440. 0
929 | HIPHAR | gtk X 1 M BT 390.0 |200.0]  200.0 590. 0
930 | FIPHAR | gtk X 3 E AN 1300.0 [200.0] 600.0 1900. 0
931 | HIPHAR | anil kX 2 M4ENI 1170.0 [200.0]  400.0 1570. 0
932 | HIBHAR | itk X 2 AE T 1040.0 |200.0]  400.0 1440. 0
933 | HAPHAR | gni[ftk X 1 LT 520.0 [200.0] 200.0 720. 0
934 | HPHAR | ik X 1 EUKA 520.0 |200.0]  200.0 720. 0
935 | FIPHAR | gtk X 2 KRR 1170.0 [200.0]  400.0 1570. 0
936 | EIBHAR | anil kX 3 kA 1560.0 |200.0]  600.0 2160. 0
937 | HIBHAR | gtk X 3 YR 1170.0 |200.0[  600.0 1770. 0
938 | HAPHAR | gtk X 1 MiELF 520.0 [200.0] 200.0 720. 0
939 | HPHAR | gk X 2 R 780.0 |200.0]  400.0 1180. 0
940 | FIPHAR | gtk X 1 ZREE 650.0 [200.0] 200.0 850. 0
941 | HIBHAR | itk X 2 HAg 1040.0 [200.0]  400.0 1440. 0
942 | HBHAR | itk X 3 Bate 1820.0 |200.0]  600.0 2420. 0
943 | HAPHAR | itk X 1 i A AE 520.0 [200.0] 200.0 720. 0
944 | HPHAR | Ak X 1 EREY:] 520.0 |200.0]  200.0 720. 0
945 | HIBHAR | anil kX 3 Lo 1560.0 |200.0]  600.0 2160. 0
946 | HIBHAR | anil kX 2 JRFTE 780.0 [200.0]  400.0 1180. 0
947 | HBHAR | ganil kX 2 WTRyisad 1040.0 [200.0]  400.0 1440. 0
948 | HPHAA | Zil 4 A X 2 TKAR i 1040.0 [200.0[  400.0 1440. 0
949 | HPHAR | gk X 2 MER 1040.0 |200.0]  400.0 1440. 0
950 | FIPHAR | gtk X 1 EviE 650.0 [200.0] 200.0 850. 0
951 | HIBHAR | anil gtk X 3 SR 1560.0 |200.0]  600.0 2160. 0
952 | EIBHAR | anil kX 2 BN 1040.0 |200.0[  400.0 1440. 0
953 | HAPHAR | anin[fdk X 1 25 Fifi Fifd 390.0 [200.0] 200.0 590. 0
954 | HBHAR | gtk X 2 |78 1040.0 |200.0]  400.0 1440. 0
955 | FIBHAR | gtk X 1 AR 390.0 [200.0] 200.0 590. 0
956 | EIBHAR | anil kX 2 FRIE H 1040.0 |200.0[  400.0 1440. 0
957 | EIBHAR | gtk X 3 L ] 75 1560.0 |200.0]  600.0 2160. 0
958 | HAPHAR | gtk X 2 a5 1040.0 [200.0]  400.0 1440. 0
959 | HIBHAR | gk X 2 K800 1040.0 |200.0]  400.0 1440. 0
960 | FIPHAR | anilfrtk X 3 B 3.41 1560.0 |200.0]  600.0 2160. 0
961 | HIBHAR | gnilftk X 2 2 X 1040.0 |200.0[  400.0 1440. 0
962 | HIBHAR | anil kX 4 X 2080.0 [200.0]  800.0 2880. 0
963 | HAPHAR | gni[ftk X 2 XU SR 1040.0 [200.0]  400.0 1440. 0
964 | HBHAR | ik X 2 XN ED 780.0 |200.0]  400.0 1180. 0
965 | FIBHAR | anil kX 5 Wi H 45 2600.0 1200.0] 1000.0 3600. 0
966 | HIBHAR | anilftk X 2 [ 3 Y] 1040.0 |200.0[  400.0 1440. 0




967 | FIPHAL | aniEAk X 4 YEE M 2210.0  [200.0]  800.0 3010. 0
968 | FIPHEA | #ninErdtIX 1 ki 390.0  [200.0] 200.0 590. 0
969 | FIPHEA | il ErdtIX 2 il E 4R 1300.0 [200.0[  400.0 1700. 0
970 | HIPHEA | @i ErdtX 1 [ % 520.0  |200.0]  200.0 720. 0
971 | HIPHER | @i EritX 2 [ T3 ke 780.0  [200.0]  400.0 1180. 0
972 | HIPHEA | aidnEritX 1 ¥ilE 650.0  [200.0]  200.0 850. 0
973 | HIPHER | aidEritX 1 FhE 5 520.0  [200.0]  200.0 720. 0
974 | HIPHEA | andeEritX 2 BT 1040.0  [200.0[  400.0 1440. 0
975 | HIPHEA | @i ErdtX 1 X1 E Mg 520.0  [200.0] 200.0 720. 0
976 | FIPHEA | @i EritX 2 Bl 1300.0 |200.0]  400.0 1700. 0
977 | HIPHER | i EiX 1 HAE 390.0  [200.0] 200.0 590. 0
978 | FIPHEA | i ErdtIX 1 Fnx 390.0  [200.0] 200.0 590. 0
979 | HIPHEA | i EritX 2 FE L 1040.0 [200.0[  400.0 1440. 0
980 | FIPHEA | zninlritIX 2 WA =R: 1040.0  [200.0[  400.0 1440. 0
981 | FIPHEA | anirlrdtIX 2 L] 1040.0  [200.0[  400.0 1440. 0
982 | FIPHEA | zninErdtIX 1 LSO 520.0  1200.0[  200.0 720. 0
983 | FIPHEA | i ErdtIX 2 b 1040.0  [200.0[  400.0 1440. 0
984 | FIPHEA | i ErdtIX 2 [5G S 1040.0  [200.0[  400.0 1440. 0
985 | FIPHEA | el rdhIX 1 N PE 520.0  |200.0]  200.0 720. 0
986 | FIPHEA | znimlEritIX 2 TR 780.0  |200.0[  400.0 1180. 0
987 | HPFHEL | i diAkX 2 FiEE 1040.0 |200.0[  400.0 1440. 0
988 | FIPHEA | #nimrdtIX 1 JE Bt 650.0  [200.0]  200.0 850. 0
989 | FIPHEA | zninEritIX 1 7K Z i 520.0  [200.0] 200.0 720.0
990 | FIPHEA | il ErdtX 3 e 1560.0 [200.0[  600.0 2160. 0
991 | FIPHER | aiieEritX 1 THAE 520.0  |200.0]  200.0 720. 0
992 | FIPHEA | @i ErdtX 1 M= 520.0  1200.0[  200.0 720.0
993 | HIPHEA | i EritIX 2 EEM 1040.0  [200.0[  400.0 1440. 0
994 | FIPHEA | i ErdtX 1 KA 520.0  [200.0] 200.0 720. 0
995 | HIPHEA | aiielErdtIX 2 Tr s 1300.0 [200.0[  400.0 1700. 0
996 | FIPHEA | anirErdhIX 3 iR 2 1560.0 [200.0[  600.0 2160. 0
997 | HPHAL | mniE kX 2 I 5 1040.0  |200.0[  400.0 1440. 0
998 | FIPHEA | #ninErdtIX 2 TEZE 1040.0  [200.0[  400.0 1440. 0
999 | FIPHEA | i ErdtIX 1 I e i 390.0  |200.0[  200.0 590. 0
1000 | FIPHEA | anielErdhIX 2 LR E 1040.0 |200.0]  400.0 1440. 0
1001 | FIPHEA | el rdhX 3 i EAa 1300.0 [200.0[  600.0 1900. 0
1002 | HPFHAE | it X 4 |75 2080.0 [200.0]  800.0 2880. 0
1003 | FIPHEA | anielErdtIX 2 IR B 1040.0  [200.0[  400.0 1440. 0
1004 | FIPHEA | otk IX 1 TR IEE 520.0  [200.0] 200.0 720.0
1005 | FIPHEA | anirl itk IX 2 TR AR 1040.0  [200.0[  400.0 1440. 0
1006 | FIPHEA | anirlErdhIX 1 FBFL R 390.0  [200.0] 200.0 590. 0
1007 | FIPHEA | otk X 3 b E 1690.0 [200.0[  600.0 2290. 0
1008 | FIPHEA | #nirErdtIX 1 BEM 390.0  [200.0] 200.0 590. 0
1009 | FIPHEA | anielErdhIX 1 RUKES 520.0  [200.0] 200.0 720.0
1010 | FIPHEA | anielErdkIX 1 [T 390.0  [200.0] 200.0 590. 0
1011 | FIPHER | andel itk X 2 EE%E 1170.0 [200.0[  400.0 1570. 0
1012 | FIPHEA | etk X 1 S 390.0  |200.0[  200.0 590. 0
1013 | FIPHEA | ol ErdtIX 3 HH/NE 1300.0 [200.0[  600.0 1900. 0
1014 | FIPHEE | andelErdkX 2 L g 1040.0  [200.0[  400.0 1440. 0
1015 | FIPHEAR | anielErdhIX 2 N 1040.0 |200.0]  400.0 1440. 0
1016 | FIPHEA | andelErdhIX 2 L E7s 1170.0 [200.0[  400.0 1570. 0
1017 | HIPHEA | otk X 1 PRIGES 520.0  1200.0[  200.0 720. 0
1018 | FIPHEA | #nirErdtIX 2 275t 1040.0  [200.0[  400.0 1440. 0
1019 | FIPHEA | otk X 2 AR 1040.0  [200.0[  400.0 1440. 0
1020 | FIPHEAR | aniel itk X 2 T 1040.0 [200.0[  400.0 1440. 0




1021 | HPHAR | gtk X 2 IRl 1300.0 [200.0]  400.0 1700. 0
1022 | HBHAR | gtk X 2 L 1300.0 |200.0]  400.0 1700. 0
1023 | FIBHAR | gl X 3 TR 1560.0 [200.0]  600.0 2160. 0
1024 | HBHAR | g kX 2 H A 1170.0 |200.0[  400.0 1570. 0
1025 | FIBHAR | gtk X 2 X I 1040.0 |200.0]  400.0 1440. 0
1026 | ABHAL | anilgEAk X 3 RIEFE 1560. 0 [200.0[  600.0 2160. 0
1027 | HBHAR | gl X 2 i 1040.0 |200.0]  400.0 1440. 0
1028 | FIBHAR | gtk X 2 MER 1300.0 [200.0]  400.0 1700. 0
1029 | FIBHAR | ani kX 3 O 1560.0 [200.0] 600.0 2160. 0
1030 | FIBHAR | gtk X 3 71844 1560.0 |200.0]  600.0 2160. 0
1031 | HPHER | gtk X 2 EXEE 1040.0 [200.0]  400.0 1440. 0
1032 | FBHAR | gtk X 3 2 2% 1560.0 |200.0]  600.0 2160. 0
1033 | FIBHAR | gtk X 2 whg 1040.0 |200.0]  400.0 1440. 0
1034 | HBHAR | ani kX 2 L 3 1040.0 [200.0]  400.0 1440. 0
1035 | FIBHAR | gtk X 3 T 1430.0 |200.0]  600.0 2030. 0
1036 | HABHER | gtk X 2 L 1040.0 [200.0]  400.0 1440. 0
1037 | HBHAR | gtk X 3 X5 3 1560.0 |200.0]  600.0 2160. 0
1038 | FIPHAR | gtk X 2 A 780.0 |200.0]  400.0 1180. 0
1039 | FIBHAR | gtk X 2 i o2 1040.0 |200.0]  400.0 1440. 0
1040 | FIBHAR | g kX 1 AR 520.0 |200.0]  200.0 720. 0
1041 | HPHAR | gtk X 2 FLAICR 780.0 [200.0]  400.0 1180. 0
1042 | HBHAR | gtk X 3 HHET 1170.0 |200.0]  600.0 1770. 0
1043 | FIBHAR | gtk X 3 FaEA 1560.0 [200.0]  600.0 2160. 0
1044 | HBHAR | ani kX 3 Pewii 1560.0 |200.0[  600.0 2160. 0
1045 | FIBHAL | g kX 1 ZRERIY 390.0 [200.0]  200.0 590. 0
1046 | HBHAA | gtk X 2 7K v 1170.0 [200.0]  400.0 1570. 0
1047 | HBHAR | gtk X 2 iE H #k 1040.0 |200.0]  400.0 1440. 0
1048 | FIBHAR | gtk X 1 R 4= i 650.0 [200.0] 200.0 850. 0
1049 | FBHAR | gtk X 1 MZEkE 650.0 [200.0] 200.0 850. 0
1050 | FIBHAR | gtk X 1 KR 520.0 |200.0]  200.0 720. 0
1051 | HPHER | gtk X 1 K 1E 390.0 |200.0]  200.0 590. 0
1052 | HBHAR | gtk X 4 BT 2080.0 200.0]  800.0 2880. 0
1053 | FIBHAR | gtk X 2 X B 780.0 [200.0]  400.0 1180. 0
1054 | EIBHAR | gl X 2 JE IR 1040.0 |200.0[  400.0 1440. 0
1055 | FIBHAR | gtk X 2 L B 3% 780.0 |200.0]  400.0 1180. 0
1056 | HBHAR | gtk X 1 ESibii 650.0 [200.0] 200.0 850. 0
1057 | HBHAR | gtk X 2 L 910.0 [200.0]  400.0 1310. 0
1058 | FIBHAR | gtk X 2 FHEA 1040.0 [200.0]  400.0 1440. 0
1059 | FIBHAR | ani kX 5 TEE 2730.0 [200.0] 1000.0 3730. 0
1060 | FIBHAR | gtk X 1 PRAEAL 520.0 |200.0]  200.0 720. 0
1061 | HPHAR | gtk X 2 Y AkeN 780.0 [200.0]  400.0 1180. 0
1062 | FBHAR | gtk X 3 ZER 1560.0 |200.0]  600.0 2160. 0
1063 | FIBHAR | gtk X 3 Y EA4 1560.0 [200.0]  600.0 2160. 0
1064 | FBHAR | ani kX 2 EEE 1040.0 |200.0[  400.0 1440. 0
1065 | FABHAR | gtk X 2 25 1040.0 |200.0[  400.0 1440. 0
1066 | HBHAA | gtk X 2 7K v AR 1300.0 [200.0]  400.0 1700. 0
1067 | HBHAR | gtk X 2 £ 1040.0 |200.0]  400.0 1440. 0
1068 | FIBHAR | gtk X 2 FES 780.0 [200.0]  400.0 1180. 0
1069 | FIBHAR | gtk X 1 FkHE 650.0 [200.0] 200.0 850. 0
1070 | FIBHAR | gtk X 2 /N 780.0 |200.0]  400.0 1180. 0
1071 | HPHAR | gtk X 2 KIEH 1300.0 [200.0]  400.0 1700. 0
1072 | HBHAR | gtk X 2 [ bd 1040.0 |200.0]  400.0 1440. 0
1073 | FIBHAR | gtk X 2 ZHEL 780.0 |200.0]  400.0 1180. 0
1074 | HBHAR | g kX 2 ks 1040.0 [200.0]  400.0 1440. 0




1075 | HIPHEA | otk X 2 s 1170.0 [200.0[  400.0 1570. 0
1076 | FIPHEA | etk IX 1 HH ¥ 520.0  [200.0] 200.0 720. 0
1077 | HIPHEA | otk X 4 K75 H 2470.0 |200.0[  800.0 3270. 0
1078 | FIPHEA | anirl B4k IX 1 i R 390.0  [200.0]  200.0 590. 0
1079 | HIPHEA | andel it X 3 X&) 1950.0 |200.0]  600.0 2550. 0
1080 | FIPHEA | znirlEdtIX 1 TREE 390.0  [200.0] 200.0 590. 0
1081 | FIPHEA | #nielrdhIX 2 Tl 1040.0  [200.0[  400.0 1440. 0
1082 | FIPHEA | ol rdhIX 2 ML B 1040.0  [200.0[  400.0 1440. 0
1083 | FIPHEA | anirl Btk IX 1 BEM 390.0  [200.0]  200.0 590. 0
1084 | FIPHEA | anirlErdhIX 2 LlGE 1040.0  [200.0[  400.0 1440. 0
1085 | FIPHEA | #nirl it IX 2 RN 1170.0 [200.0[  400.0 1570. 0
1086 | FIPHEA | #nirErdtIX 3 it 1560.0 [200.0[  600.0 2160.0
1087 | FIPHEA | #nielErdhIX 2 BH T 1040.0  [200.0[  400.0 1440. 0
1088 | FIPHEA | zanirl itk IX 1 TR 390.0  [200.0] 200.0 590. 0
1089 | FIPHEA | #nirlrdtIX 2 KER 1040.0 |200.0]  400.0 1440. 0
1090 | FIPHEA | aniel ik X 1 KA 520.0  1200.0[  200.0 720. 0
1091 | FIPHER | el ErdhIX 3 e 1170.0 [200.0[  600.0 1770. 0
1092 | FIPHEA | andelErdkX 1 PR E 390.0  [200.0] 200.0 590. 0
1093 | FIPHEA | anirl Btk IX 2 T 1040.0  [200.0[  400.0 1440. 0
1094 | FHIPHEA | anidel Btk IX 1 v 520.0  |200.0[  200.0 720. 0
1095 | FIPHEA | otk X 2 GBS 1040.0 [200.0[  400.0 1440. 0
1096 | FIPHEA | el ErdhIX 2 FES 1040.0  [200.0[  400.0 1440. 0
1097 | FIPHEA | otk X 2 IR 1040.0  [200.0[  400.0 1440. 0
1098 | FIPHEA | anirlErdhIX 1 i [ 390.0  [200.0]  200.0 590. 0
1099 | FIPHEA | anirlErdhIX 1 AR S 520.0  [200.0] 200.0 720. 0
1100 | FIPHEA | ol ik IX 1 AT 520.0  1200.0[  200.0 720.0
1101 | FIPHEA | el ErdtX 1 kS 390.0  [200.0] 200.0 590. 0
1102 | FIPHEE | andel ik X 3 MIKE 1560.0 [200.0[  600.0 2160. 0
1103 | FIPHEAR | anielErdhIX 1 % 1E Y 650.0  [200.0]  200.0 850. 0
1104 | HIPHEA | andelErdhIX 1 IR 390.0  |200.0]  200.0 590. 0
1105 | FIPHEA | anielErdhX 1 R R 520.0  1200.0[  200.0 720.0
1106 | FIPHEA | anielErdhIX 2 FIME 5 1300.0 [200.0[  400.0 1700. 0
1107 | FIPHEA | = BHERHIX 3 oy 1690.0 [200.0[  600.0 2290. 0
1108 | FIPHEA | = BHERH:IX 1 REE 520.0  [200.0] 200.0 720. 0
1109 | FIPHEA | = BHEEHIX 2 I 1040.0  [200.0[  400.0 1440. 0
1110 | HPHEE | = PHERHEIX 1 L il g, 520.0  1200.0[  200.0 720.0
1111 | FBHSE | EBHEE X 1 SISO 520.0  [200.0]  200.0 720. 0
1112 | FIPHEE | = BHER X 2 6 3L 1170.0 [200.0[  400.0 1570. 0
1113 | HIPHEE | = BHERHIX 3 R 1560.0 [200.0[  600.0 2160.0
1114 | HPHEE | = BHEE X 4 AN 1560.0 [200.0[  800.0 2360. 0
1115 | FIBHSL | EBHEEAEIX 2 LK 1300.0 |200.0[  400.0 1700. 0
1116 | FIBHSL | EBHEEHIX 1 R 520.0  [200.0] 200.0 720. 0
1117 | FIPHEE | = BHER X 2 HER 1040.0  [200.0[  400.0 1440. 0
1118 | FIPHEA | = BHERHIX 1 [l 650.0  [200.0]  200.0 850. 0
1119 | HPHEE | = BHEEHIX 2 = 780.0  [200.0]  400.0 1180. 0
1120 | FIPHEE | = PHERHEIX 3 B 1430.0 [200.0[  600.0 2030. 0
1121 | FIPHSL | EBHEE A IX 1 HLHEE 520.0  [200.0] 200.0 720.0
1122 | FIPHEE | = BHER A X 2 2= G 910.0  [200.0]  400.0 1310. 0
1123 | HIPHEE | = BHER A X 1 ZIER 520.0  [200.0]  200.0 720. 0
1124 | HPHEE | = BHEE A X 1 ¥ /it 390.0  [200.0]  200.0 590. 0
1125 | FIPHEE | = PBHERHEIX 2 EIRE 1040.0  [200.0[  400.0 1440. 0
1126 | FIBHSL | EBHEEAEIX 1 XEE 520.0  [200.0] 200.0 720.0
1127 | FHIPHEE | = BHER A X 1 TS 390.0  [200.0] 200.0 590. 0
1128 | FIPHEA | = BHERHIX 1 KEE 650.0  [200.0]  200.0 850. 0




1129 | HIPHEE | = PBHERHEIX 2 TETs 1170.0 [200.0[  400.0 1570. 0
1130 | FIBHSL | EBHEE A IX 2 55 B 1040.0  [200.0[  400.0 1440. 0
1131 | FIPHEA | = BHERHEIX 1 BRI 520.0  [200.0] 200.0 720. 0
1132 | FIPHEE | = BHERHIX 1 R 390.0  [200.0]  200.0 590. 0
1133 | HIPHEA | = BHERHIX 4 X B 1820.0 [200.0[  800.0 2620. 0
1134 | HIPHEE | = PHERHEIX 2 RER 1040.0 [200.0[  400.0 1440. 0
1135 | FIBHSL | EBHEEAEIX 1 SEAER 520.0  [200.0]  200.0 720. 0
1136 | FIPHEA | = BHERHIX 1 KR 650.0  [200.0]  200.0 850. 0
1137 | HIPHEE | = BHERHIX 2 s 780.0  [200.0]  400.0 1180. 0
1138 | FIPHEA | = BHERHIX 1 ZHR 520.0  [200.0] 200.0 720. 0
1139 | HBHEE | B FHEALX 2 ZiKiE 1170.0 |200.0[  400.0 1570. 0
1140 | FIBHSL | EBHEEHEIX 2 TEX 910.0  [200.0]  400.0 1310. 0
1141 | FIPHEE | = BHERHEIX 4 [5ieAN 2080.0 |200.0[  800.0 2880. 0
1142 | HPHEE | = BHER A X 1 AEARF 650.0  [200.0]  200.0 850. 0
1143 | HIPHEA | = BHERHIX 2 Sl 910.0  [200.0]  400.0 1310. 0
1144 | HPHEE | = PBHERHEIX 1 {EERFE 650.0  ]200.0]  200.0 850. 0
1145 | FIBHSL | EBHEE4EIX 2 gk 1040.0  [200.0[  400.0 1440. 0
1146 | FIPHEE | = BHERHEIX 2 | e 780.0  [200.0]  400.0 1180. 0
1147 | HPHEE | = BHER A X 4 ZHE 2080.0 |200.0[  800.0 2880. 0
1148 | FIPHEA | = BHERHIX 2 =7 780.0  [200.0]  400.0 1180. 0
1149 | HPHEA | = PBHERHEIX 1 R 520.0  1200.0[  200.0 720.0
1150 | FIBHSL | EBHEE 4 IX 2 LN 1170.0  [200.0[  400.0 1570. 0
1151 | FIPHEA | = BHERHEIX 3 BV 1690.0 [200.0[  600.0 2290. 0
1152 | FIPHEAE | = BHER 41X 1 0 75 % 390.0  [200.0]  200.0 590. 0
1153 | FIPHEA | = BHERHIX 2 L RYAES| 780.0  [200.0]  400.0 1180. 0
1154 | HIPHEA | = BHERHEIX 1 X 650.0  ]200.0]  200.0 850. 0
1155 | FIBHSL | EBHEE 4 IX 1 =0 650.0  [200.0]  200.0 850. 0
1156 | FIPHEA | = BHERHIX 2 T 1170.0 [200.0[  400.0 1570. 0
1157 | HIPHEA | = BHERHIX 3 as2) 1560.0 [200.0[  600.0 2160.0
1158 | FIPHEA | = BHERHIX 1 TH 390.0  [200.0]  200.0 590. 0
1159 | HIPHEA | = PHERHIX 1 X = 520.0  1200.0[  200.0 720.0
1160 | FIBHSL | = BHEE 4 IX 1 = 520.0  [200.0] 200.0 720. 0
1161 | FIPHEE | = BHERHEIX 1 Bk = 650.0  [200.0]  200.0 850. 0
1162 | FIPHEE | = BHER 4 X 1 W TS 650.0  [200.0]  200.0 850. 0
1163 | FIPHEA | = BHEEHIX 1 Mk = 520.0  [200.0] 200.0 720. 0
1164 | FIPHEA | = BHERHEIX 2 XIS 780.0  |200.0[  400.0 1180. 0
1165 | FIBHSL | EBHEEAEIX 1 K& 650.0  [200.0]  200.0 850. 0
1166 | FIPHEE | &= BHERHIX 2 AR 780.0  [200.0]  400.0 1180. 0
1167 | HIPHEA | = BHERHIX 3 JH A8 1560.0 [200.0[  600.0 2160.0
1168 | FIPHEA | &= BHEEHIX 3 MR % 1690.0 [200.0[  600.0 2290. 0
1169 | FIPHEA | = PHER 41X 2 AT IR 1040.0 [200.0[  400.0 1440. 0
1170 | FIBHSL | EBHEE 4 IX 1 s 650.0  [200.0]  200.0 850. 0
1171 | FIPHEE | = BHER A X 4 IZER0N 1560.0 [200.0[  800.0 2360. 0
1172 | HPHEE | = BHER A X 1 BEFR R 520.0  [200.0] 200.0 720.0
1173 | HIPHEA | = BHEEHIX 3 13 1560.0 [200.0[  600.0 2160.0
1174 | HPHEA | = PBHERHEIX 1 AR 390.0  [200.0] 200.0 590. 0
1175 | FIBHSL | EBHEE A IX 2 R lIpEiR 780.0  [200.0]  400.0 1180. 0
1176 | FIPHEA | = BHER 41X 1 % 390.0  [200.0] 200.0 590. 0
1177 | HPHEE | = BHER A X 2 (19’8 1040.0  [200.0[  400.0 1440. 0
1178 | FIPHEA | = BHEEHIX 2 MAEE 1040.0  [200.0[  400.0 1440. 0
1179 | HIPHEE | = PHERHEIX 2 PRt 1170.0 [200.0[  400.0 1570. 0
1180 | FIPHEL | = BHEEHIX 1 Bl 520.0  [200.0] 200.0 720.0
1181 | FIPHEA | = PBHERHIX 2 FLIAIFH 1040.0  [200.0[  400.0 1440. 0
1182 | HIPHEA | = BHERHIX 2 ] [E 55 1170.0 [200.0[  400.0 1570. 0




1183 | HPHEA | EFHEEHEIX 2 B R EH 1300.0 [200.0]  400.0 1700. 0
1184 | HPBHEL | &FHEEAIX 3 R T 1170.0 |200.0]  600.0 1770. 0
1185 | FIPHAA | EFHEEHEIX 3 it 1430.0 |200.0]  600.0 2030. 0
1186 | HIPHAA | EFHEEHEIX 2 1R 1170.0 |200.0]  400.0 1570. 0
1187 | FBHAA | EFHEEHEIX 1 K% 390.0 [200.0]  200.0 590. 0
1188 | HPHEA | EFHEEHLIX 1 ] 520.0  [200.0] 200.0 720. 0
1189 | HPHEL | EFHEEAIX 1 Rkt 390.0 |200.0]  200.0 590. 0
1190 | FIPHEE | EFHEEHEIX 3 e 1300.0 |200.0]  600.0 1900. 0
1191 | FPHeE | EFHEEAE X 1 EFHE 390.0 [200.0]  200.0 590. 0
1192 | FBHEE | EPHEE X 2 R 1300.0 |200.0]  400.0 1700. 0
1193 | HPHEE | EFHEEHEX 4 N 2080.0 |200.0/  800.0 2880. 0
1194 | HBHEE | EFHEEAX 3 SERAL 1170.0 |200.0]  600.0 1770. 0
1195 | FIPHeE | EFHEEHEIX 3 FH = 1950.0 |200.0]  600.0 2550. 0
1196 | FIPHAA | EFHEEHEIX 4 K Fifi Fift 2080.0 1200.0]  800.0 2880. 0
1197 | FBHE | EPHEEHEIX 1 X & 650.0 [200.0] 200.0 850. 0
1198 | HPHEA | EFHEEHEIX 2 AR 780.0 [200.0]  400.0 1180. 0
1199 | HBHEE | EFHEEAX 2 R 780.0 |200.0]  400.0 1180. 0
1200 | FIPHEA | EFHEEHEIX 1 FIEHR 520.0  |200.0]  200.0 720. 0
1201 | FPHEA | EFHEEAEIX 1 %351 650.0 [200.0] 200.0 850. 0
1202 | FIBHAR | EFHEEHEIX 1 KV 650.0 [200.0] 200.0 850. 0
1203 | HBHAR | EFHSALX 2 X8 2 1170.0 [200.0[  400.0 1570. 0
1204 | HBHEL | EFHEEAX 1 F=4%& 650.0 [200.0] 200.0 850. 0
1205 | FIPHAA | EFHEEHEIX 2 Lamiis 1040.0 |200.0]  400.0 1440. 0
1206 | FIPHAA | EFHEEAEIX 2 X 1170.0 |200.0]  400.0 1570. 0
1207 | FABHAA | EFHEEHEIX 4 X EE 2210.0 1200.0]  800.0 3010. 0
1208 | HPHEA | EFHEEHEIX 2 i W 7 1040.0 [200.0]  400.0 1440. 0
1209 | HBHEE | EFHEEAX 1 et 390.0 |200.0]  200.0 590. 0
1210 | FIPHEA | EFHEEHE X 2 FHE 1040.0 |200.0]  400.0 1440. 0
1211 | FPHEE | EFHEEHE X 1 XU & 650.0 [200.0] 200.0 850. 0
1212 | FBHEL | EFHEEHEIX 2 TN ik 780.0 |200.0]  400.0 1180. 0
1213 | HPHEE | EFHEEHEX 1 SR 520.0 [200.0] 200.0 720. 0
1214 | HBHEE | EFHEEAX 2 AR 780.0 |200.0]  400.0 1180. 0
1215 | FIPHEA | EFHEEHE X 1 R qm 650.0 [200.0]  200.0 850. 0
1216 | FABHEA | EFHEEHEIX 3 HEZ R 1560.0 |200.0]  600.0 2160. 0
1217 | HABHE | EFHEEHE X 2 RiAE 910.0 [200.0] 400.0 1310. 0
1218 | HPHEA | EFHEEHEIX 1 A 390.0 |200.0]  200.0 590. 0
1219 | HBHEE | EFHEEAX 1 TR 650.0 [200.0] 200.0 850. 0
1220 | FIPHEA | EFHEEHEIX 1 ik 650.0 [200.0] 200.0 850. 0
1221 | FPHAA | EFHEEHEIX 2 AN 1040.0 |200.0]  400.0 1440. 0
1222 | FABHAL | EFHEEHEIX 2 b 1040.0 |200.0]  400.0 1440. 0
1223 | HPHEE | EFHEEHEX 1 ZEE 520.0 [200.0] 200.0 720. 0
1224 | HBHEE | EFHEEAX 1 SEE 650.0 [200.0] 200.0 850. 0
1225 | FIPHAA | EFHEEHEIX 2 wiEE 1300.0 |200.0]  400.0 1700. 0
1226 | FBHAA | EFHEEHEIX 2 I EZ] 1170.0 |200.0]  400.0 1570. 0
1227 | FBHEL | EFHEEHEIX 2 KU 780.0 |200.0]  400.0 1180. 0
1228 | HPHEA | EFHEEHEX 1 g 390.0 |200.0]  200.0 590. 0
1229 | FH#E | BV EZS 3 K i 1560.0 |200.0]  600.0 2160. 0
1230 | T8 | By ERe 2 LS 1300.0 |200.0]  400.0 1700. 0
1231 | FHE#E | BV ERS 2 Y 1170.0 |200.0]  400.0 1570. 0
1232 | FHE#E | BV ERS 2 FRYEAR 1040.0 |200.0]  400.0 1440. 0
1233 | FH#E | BV ERS 2 g )l 1170.0 [200.0]  400.0 1570. 0
1234 | FHEHE | BV ERS 2 b 1040.0 |200.0]  400.0 1440. 0
1235 | THE#E | My ERs 1 535S 650.0 [200.0] 200.0 850. 0
1236 | FHE#E | BV ERS 1 WER 520.0 |200.0]  200.0 720. 0




1237 FEE#E | B ERERS 1 =) 650.0  ]200.0]  200.0 850. 0
1238 | TiHE | My ERE 2 R AN v 1040.0  [200.0[  400.0 1440. 0
1239 | FiEE#E | By R 1 B 520.0  [200.0] 200.0 720. 0
1240 | T8 | By ERS 2 g8 IE 7 1170.0  [200.0[  400.0 1570. 0
1241 | THEHE | By ERS 2 XU A 1040.0  [200.0[  400.0 1440. 0
1242 | T3EE#E | BV ERERS 1 AL /NEE 650.0  [200.0]  200.0 850. 0
1243 | THHE | By ERS 1 HEE 520.0  [200.0]  200.0 720. 0
1244 | FEE#E | BV EERS 2 PR 1170.0 [200.0[  400.0 1570. 0
1245 | T8 | Wy ERS 3 5K~ 1690.0 [200.0[  600.0 2290. 0
1246 | T8 | By ERS 2 KA 1040.0  [200.0[  400.0 1440. 0
1247 | FEE#E | BV ERERS 2 A 1040.0 [200.0[  400.0 1440. 0
1248 | THE | Wy ERES 1 B HER 390.0  [200.0] 200.0 590. 0
1249 | F3EE#E | B EES 1 S 520.0  [200.0] 200.0 720.0
1250 | FEE | My ERS 2 & 1170.0 [200.0[  400.0 1570. 0
1251 | THEE | My ERS 3 ®ET 1950.0  [200.0[  600.0 2550. 0
1252 | F3EE# | B EERS 2 Fhi 1040.0 [200.0[  400.0 1440. 0
1253 | THE | My ERs 2 s 1170.0 [200.0[  400.0 1570. 0
1254 | F3EE#E | B EERe 1 A 650.0  [200.0]  200.0 850. 0
1255 | TiEE | My ERES 2 w= 1170.0  [200.0[  400.0 1570. 0
1256 | TiEE | My ERE 1 i 650.0  [200.0]  200.0 850. 0
1257 | F3EE# | B EERS 2 g 1040.0 [200.0[  400.0 1440. 0
1258 | TiEE | My EERES 2 N 1040.0  [200.0[  400.0 1440. 0
1259 | Ty | B EERe 1 2= R 520.0  [200.0] 200.0 720.0
1260 | T8 | My ERS 2 R 1040.0  [200.0[  400.0 1440. 0
1261 | T8 | By ERS 1 i 4> 3t 650.0  [200.0]  200.0 850. 0
1262 | FiEE#E | B EERS 1 S 650.0  ]200.0]  200.0 850. 0
1263 | T | My ERE 1 BB 520.0  [200.0] 200.0 720.0
1264 | FiEE#E | By RS 1 &R 390.0  [200.0] 200.0 590. 0
1265 | TiH# | Wy ERS 1 55 520.0  [200.0] 200.0 720.0
1266 | T8 | My ERS 2 th&= 1040.0  [200.0[  400.0 1440. 0
1267 | FiEE# | B ERERS 1 BE>% 650.0  ]200.0]  200.0 850. 0
1268 | TiE# | My EERES 1 MmE 520.0  [200.0] 200.0 720. 0
1269 | FiEE# | B EERe 2 K AR 1170.0  [200.0[  400.0 1570. 0
1270 | T8 | Wy ERS 1 K~ iE 650.0  [200.0]  200.0 850. 0
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1295 | #iie WEWEANZES 1 LB 520.0  [200.0] 200.0 720. 0
1296 | & WEWEANZES 1 B4 650.0  [200.0]  200.0 850. 0
1297 | X7 % | RENES 1 g AR 650.0  [200.0]  200.0 850. 0




N = = = AN M A AN AN NN FIFTFTFTNOMNM AN AN A AN A NN AN NN ANANANNAN AN AN AN NN~ —NMm— N~



— M ANM AN A NN ANNM AN ANN—— AN A N NN N—— NN~ NN — N —™M— AN



N NN MO NN — M AN — 0N~ <FF NN A N N — AN~ NN —M N~ NN —— N~



—S N~ A~ <A A AN A A AN NN A AN AN MAN—ANAN A AFTANANANN A ANNNOONN N A



—S AN AN A AN AN AN AN AN T HFT AN A NN A0 AN A AN — AN~~~ N~ N0MANAN— AN NN



N = AN AN AN ANM A AN NN M N MO ANNNANNN A N NN N MMM AN — AN —ANMr—~r—r—r—r—r—r— NN —



— )~ M ANN )~ I AN N 1 AN~ N AN AN NN I O N N MmN NN MM~ M— — Al






N MO AN NN MM 4" AN NN AN~ NN N~ M F = NN AN~ NN N — NN — 0NN~ <~



— N A A MM AN AN NN A AN NN M~ A " AN N A~ N = N MO MN— AN NN — AN~~~



N AT F A Y N~~~ AN~ NN N~ M AN A —~—NM— NN~ NN NN A~ NM— NN ANNMm—Mm



< MO AN AN AN ANN AN MM AN NN M0 — M~ M~ N~ N~ N — MmN — AN — N



NN~ = A A AN AN~ <A AN FT MO AN AN AN AN~ NN A 0N~ M ANMANN—~ N~ NMmANN—~ A



—S M AN FT AN A A A A AN AN A MO ANANM A ANM AN A AN AN AN <FF NN AN NN A~~~ — N — N~



AN M AN NN NN "Ll A" NNMNM A0 N AN MmN AN~ AN A~ AN —AN— NN <~



MM 4 AN AN AN AN ANANANMDMNM AN 0 AN FT A A AT AN A 0N FTANANANNANN AN A <F NN M — AN < — AN AN~



AN AN AN FT AN A AN AN AN NN TDTANN AN ANAANN—TANNMONM AN AN ANM O M0 AN AN AN —— NN MmMm— AN



oA = A AN A A AN O AN A A NN AN NN M ANANAN AN AN AN AN ANNNOANFTANLOONT AN~ AN A



—S AN AN~ Y AN NN AN NN AN A M N AN AN AN FTANA—ANN M~ AN M AN AN AN NN NODTNANM



AN AN MM AAMANANANMANNND AN ANMNMMM—A AN~ < AN AN AN ANMMmAANANNNANNANN AN AN ANANNN—~A <A A



AN AN AN NN NN 4NN NN A~ N NN — N~ NN IFTNN NN~ N~~~ NN~ — <N



—S = AN AN AN T AN NN TN NN NN~ NN~~~ N~ NMMH”N <N AN AN AN NN NMmMm”ANN —~



—S N A/ N FTOMNM FHF /AN A A AN AN FTAA NN NN N MO~ NN AN "M AN~ N~ NN~









